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Question Number : 1 _Question Id : 64635010493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is a social characteristic of a learner?

(1) Power of sensory perception {2) Thinking ability
(3) Power of synthetic imagination (4) Ability to relate oneself with others
Options :

E4E535041299. 1

64535041200, 2
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E4535041201. 3
64535041202, 4

Question Number : 1 Question Id : 64635010493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Frtatiag § & %9 =5 AT9H=Ral = "I e & 7

(1) T TeAE (2) T gaa
(3)  HTSSITHT Foq T (4) T F I F HE gEg AT
Options :

E4E535041299. 1
64535041200, 2
64535041201, 3

E4B25041202. 4
|

Question Number : 2 Question Id : 64635010494 Question Type : MCQ Option Shuﬁllng No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 i
Which is the characteristic of formative evaluation?

r

(1) Evaluation occurs at the terminal point

{2y Evaluation 15 used before programme design

(3) Evaluation relates to ndicating learning outcome of teaching
(4) Evaluation 15 conduected during teaching

Options : ——
Cde3E0412020 1
E4E=E041204. 2
4525041205 2
C4AE2E041306. 4

i,

Question Number : 2 Question Id : 64635010494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No. Option Oriertation : Vertical

Correct Marks : 2 Wrong Marks : 0

fterTiaa o | 9 = TAiomer e = e g e

(1)  HFITeA TG T A 2

(2)  TEATEA, FEAFEN T FE F TR R S 2

(3)  HEATEA, Fem = At Ty 9= 09 J 95 cad aidl o
(4)  HEETA e 2 T S

Options :
64535041203, 1

E4E35041204. 2
64535041205, 3
64535041206, 4

Question Number : 3 Question Id : 64635010495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
‘Cone of Experience’ related to teaching-learning was suggested by
(1) John Dewey (2) EKilpatrick

(3) Froebel {4y Edgar Dale
Examrace WWWw.examrace.com



Options :

64535041207, 1
4835041208, 2
4535041209 2
64535041210, 4

Question Number : 3 Question Id : 64635010495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T ATeTH o HE AT W T W TR W TR Y

(1y =9 2=t (2) TwetlcH
(3)  wEE (4) TSR EA
Options : \

E4535041207. 1
64535041208, 2
64535041209, 3

E4E825041210. 4
i

[

Question Number : 4 Question Id : 64635010496 Question Type : MCQ Optiop Shuffling : l\?o Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
f

Correct Marks : 2 Wrong Marks : 0 f |

The field of study which uses role playing, simulation and self-evaluation as strategies for
adult learners is known as

(1) Pedagogy iZ) Andragogy
(3) Anthropology i4) Psychology
Options : ,." N '

E4E535041211. 1
E4E35041212. 2
64535041213, 3
64535041214, 4
i

|
Question Number : 4 Question Id ; 64635010496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks #0
a8 AT & T80 We AT &g TG+ B9 ° g ¥eEH, T AN H-HediE
ECE IR ol | =t e e = 2 e o

(1) T (2) Ugri=
(3)  JEEE (4) A
Options : '

64535041311, 1
64535041312, 2
E4535041213. 3
E4E35041214. 4

Question Number : 5 Question Id : 64635010497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which among the following is a non-cognitive characteristic of learner?

(1) Recalling {2y Problem solving

(3) Identifying important sensory Inputs (4) Believing what is true

Options :
6453504135151

E4E35041216. 2
E4E35041217. 3
645350412158, 4

Question Number : 5 Question Id : 64635010497 Question Type : MCQ Option Shuffling : No Display Questron Number : Yes
Single Line Question Option : No Option Orientation : Vertical j

Correct Marks : 2 Wrong Marks : 0
fTataa 8 | S =1 AamFal = H-HaHeE = g

() T (2) HHEET TETEE
(3)  HEATH Heldl AFTE = TE=H FAT (4) T3 HvamE =
Options : a P |

645350412151
64535041216, 2
64535041217, 3
E4E35041218. 4

"
F
Fd
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Question Number : 6 Question Id : 64635010498 Questlah-l'ype MCQ Op’:uon Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation.: V%tlcal

Correct Marks : 2 Wrong Marks : 0

Which of the following research formats focusses on hypothesis testing and generalisations?

(1) Experimental and ex-post facto research
i(2) Intervention based action research
{3) Phencomenalogical and narrative research

(4} Case study research

options: 1\
4235041219 1
E4e32E041=20. 2
40235041321, 2
64635041322 4
Y

J

Question Number : 6*Question Id : 64635010498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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et § & %9 =5y 90y T TOgW 3 ITHT e A i B Y

(1) TS AT FATcaL Y
(2)  FEAET AT TR I
(3) T T faEe AN g v e
(4) oA A=TFA MY
Options :
4635041219, 1
c4As2E041320. 2

E4E35041221. 3
645350412322, 4

&
{
Question Number : 7 Question Id : 64635010499 Question Type : MCQ Option Shuffling : No D"rsplay QuestiopNumber : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following action sets best represent an action research cvele?

iy Reflect, act, plan and observe {2) Plan, act, obhserve and reflect
{3} Observe, plan, reflect and act (4) Act, plan, obzerve and reflect
Options : ,."l \ JI'

64535041323 1
64635041324 2
64835041325 =2
E4E25041228. 4
Mo, 4,}:
Question Number : 7 Question Id : 64635010499 IQuestion Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
f=ratiad 0 ® F3 91 R 9= TR+ oY 9% + 931 e 27

(1y =, =t g Jh a=wee (2y Ft=An, AT, = A =
(3)  FFAEA, T, T A Tt (4) ToaTi=ta, Tr=F, = A=A

Options : F F)
64635041323, 1

64535041324, 2
E4E35041325. 3

EAE35041326. 4
\

|

Question Number : 8 /Question Id : 64635010500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question:Option : No Option Orientation : Vertical

Correct Marks : 2 Wronb Marks : 0

Which one of the following is the main feature of qualitative research?

(1) Avolds positivist assumptions and data analysis
{2} Subscribes to pre-existing categories
(3) Collects data in numerical form

(4) Uses empirical metheod of data analysis

Options :
645350412327, 1
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E4E350412329. 3
64535041220, 4

Question Number : 8 Question Id : 64635010500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fttera | @ 9 =1 e T 6w fafime 20
(1)  TagaTers @iaee A o favee = 7iEn F=a 2
(2) v fa=mme afori o wgufs =% w49 2
(3)  HETES B9 H s H IUE w4 2
(4)  Ward Tag=iy = AT =Y w5 I g
Options : A
cdez2E041=327. 1
C4AE2E041328. 2
4525041329 2
45250412320 4

r

Question Number : 9 Question Id : 64635010501 Question Type : MCQ Option Shufﬂing : I\to Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

-

A good review of research literature aims at

(1) Subjective analysis of the content

(2) Provides information about the authors and thewr affiliations
(3 Generates research questions and validating those guestions
(4) Conducts multiple task based screening

Options :
648350412311
64535041332 2
64535041222,
64535041224, 4
i
w |

Question Number : 9 Question Id ; 64635010501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No, Option Orientation : Vertical

Correct Marks : 2 Wrong Marks “
Ty—arfee 6 T A=t w7 S5 A R
(1) fawr=eg = =fFafase fagem =)
@) wEE ST gee F A § g e e
(3) Y W g A A I A
(4)  FE-HE AEE THT F

Options : v

645350413211

64E350413222 2

64535041333, 3

64535041334 4

Question Number : 10 Question Id : 64635010502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A researcher fails to reject the null hypothesis (Ho) in his/her research. What implications
will it earry for hisfher principal research hyvpothesis?
(1) Accepting the research hypothesis
(2} Rejecting the research hypothesis
(3) Not talang any decizsion on the research hypothesis
(4) Improving the research hypothesis
Options :
64535041235, 1
64535041336, 2
64535041337, 3
E4E35041225. 4
f

Question Number : 10 Question Id : 64635010502 Question Type : MCQ Option Shuffling : No Display Que?i’or‘l Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 i f
U WA A0 WG § Y e ST R A e @ §| SEe g e wieke % Ty
T AT g g
(1) ¥ TR o T o w5
(2)  FE THETN i AEHE
(3) WG IiEeT W OHE A TR S
(4y Y TiEFE O HET

Options : ?,‘lf

645350413351

64535041326, 2

64535041337, 3

64535041338, 4

i,

Sub-Section Ni.lmbe{: 2
Sub-Segtion Id: 646350500
QuesjioiT Shuffling Allowed : Yes

Questions : No
Question Numbers : (11 to 15)
Cuestion Lateal Comprehension

Question Id : 64635010503 QuestiT Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Read the following passage and answer guestions:

There 1= a common thread running through the unravelling of India’s statistical
system. A modern economy with sound institutions is characterised by timely dissemination
of credible data. A long term policy needs an empirical basis and issues of veracity of data
will influence investment decisions. In a country with a large population of youth, data on
national development, especially in core sectors like agrienlture, industry, health, education
and employment, will be critical Here comes the role of National Statistieal Commission, a
body ereated to establish standards. Questioning the data veracity is a global phenomenon.
The official narrative is always guestioned by the people on the other side of the fence.
Dissemination of economic data is essential to reach out to the public who lived their reality.
Lack of data will adversely impact the gualitv of national policies. India must start
strengthening institutions such as the central statistical commission. These Institutions
must be granted autonomy and insulated from external interferences. Enhanced operational
autonomy will make thelr work credible. An indicator of operational autonomy is their
ability to stick to a dissemination calendar regardless of what the data indicates.

Sub questions . .(I "

[

{ [
Question Number : 11 Question Id : 64635010504 Question Type : MCQ Option Shuffling : No..Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1
r

What is important for a modern economy?
(1) A common thread

i(2) Dissemination of credible data

(3) Unravelling of statistical syvstem
{4) Selective distribution of data

Options : !j’
64535041239, 1
645350413240 2
64535041341, =2
E4de35041342. 4

Question Number : 12 Question Id : 64635010505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 'i i
Investment decisions are impacted by

(1) Youth population {2) National development
(3) Issues of data veracity i4) Establishment of national institutions
Options : .r

64535041342 1
64535041344, 2
E4E35041245. 3
E4E35041246. 4

F

Question Number : 13 Question Id : 64635010506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What 1s the work of National Statistical Commission?

1y Establishing standards (2} Questioning data veracity
(3) Guestioning official narrative {4y Supporting the public perception
Options :

E4E2E044 1 ZEKantrace WWw.examrace.com



E4E35041248. 2
64535041245, 3
64535041250, 4

Question Number : 14 Question Id : 64635010507 Question Type : MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

How can the quality of national policies be improved?

(1) By living reality
(2) By supporting external interferences
(3 By controlling autonomous institutions
(4) Br enhanced operational freedom
Options :
E4525041251. 1
E4535041352 2
64535041353 =
64635041354 4

-

Question Number : 15 Question Id : 64635010508 Question Type : MJQ Opt|on Shuffling :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 | i "

L

What does the passage ultimately suggest to National Statistical Commission?

(1) Restricting policy decisions

{2) Critieally examining data veraecity

(3) Stick to a calendar of data dissemination
(4) Support development in core sectors
Options :

E4525041255 1

E4525041356. 2

64535041357 2

64635041358 4

a

: No Display Question Number : Yes

{

No Display Question Number : Yes

Question Id : 64635010503 Questir"n Ty-'/pe : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No
Question Numbers : (11 to 15)

Question Label : Comprehension
[

|

|

j
w
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Sub questions f [

Question Number : 11 Question Id : 64635010504 Question Type : MCQ Option Shuffllng No Dlsplay Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical r

Correct Marks : 2 Wrong Marks : 0 g - | {
(1) U= FmE fTEn
(2) TavEEEm Aiwsl = =
(3) TSI qUTHT 1 WP
(4)  HATFS F TIATHF FaT

Options : i f
c4de35041239. 1
E4E=E0413240. 2
452504132341 2
452504132342 4

‘: -
Question Number : 12 Question Id : 64635010505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

(1) =& S (2) T fa=ry
(3)  Fihel H HAW F AL (4) AT HEE! H T
Options : I

64535041243, 1
64535041344, 2
64535041345, 3
E4E35041324E. 4

Question Number : 13 Question Id : 64635010506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TS HITETH AT = F47 F: 18 27

(1)
(3)

Options :

o gt == (2y ATHsl H Ioga T 94 =0
AT TFasd] T2 Hdg +31 (4) ST TR

E4E35041247. 1
E4E35041248. 2
64535041245, 3
64535041250, 4

Question Number : 14 Question Id : 64635010507 Question Type

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

T il = e § FH "UR R S g 37

@)

Options :

FHE T W ATHE T

TR AT F T |

= qEn A WA =1
HTEF TR+ T=aad WEH F

64535041351, 1
E4E35041352. 2
E4535041353. 3
E4535041254. 4

i
W

: MCQ Option Shuffling : No Display Question Number : Yes
-
{

Question Number : 15 Question Id : 64635010508 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
YA TR § AR AT AT R Had: 4 gE fed T g e

(1)

(2)

(3)

(4)
Options :

e ot 7% aEy =

HATHE TTF=4T T 5L F T =1
T @ H T w5 weeE w

E4E535041255. 1
E45350412356. 2
645350412357, 3
64535041358, 4

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

646350501
Yes

Question Number : 16 Question Id : 64635010509 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Qpestign,Qption : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
Assertion (A) : The correlation function of mass media is vital for any society.

Reasons (R) : The mterpretational aspects that melude advertising and public relations
shape and influence public opinion.

Choose the correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are true, and (R} is the correct explanation of (A)
(2} Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3 {A) is true, but (R) is false

{4) (A) is false, but (R} is true

Options : i :
64535041359 1

646350413560, 2

646350413561, 3

6465350413562, 4

r

Question Number : 16 Question Id : 64635010509 Question Type : MCQ Option Shuﬂ’lmg {\lo Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 j" .

AwEE (A) - ﬂwaﬂwmﬁmmwam%@m%l

T (R)- =amEae = e, (9 foee @t =9 99 e 3, 9997 %61 09 s 5 S 3
ATET 4

4= feu o fameen o o som s = H

() (A) &R R) T =@ F 791 (R), (A) 1 =8 = 2
(2 (AR R)E T 2, T R), (A F T e T 2
(3 (AT, R T 2
4 (A)Tem E, R T E
Options : I
cAdE2E0413549 1
6463504135@. zZ
CAEZE041 361, 2
CAEZEN41 362 4

Question Number ;117 Question Id : 64635010510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Some of the barriers to effective communication are

(a) Polysemy

i) Simple language

ic) Use of Cliche’s

(d) Easy construction of sentences

Choose the correct answer from the codes given below :

(1)  (a)and (b) (2) (b) and (¢)

(2)  (¢) aRsarfrace (4) (a)and () WWW.examrace.com



Options :

64535041363, 1
4835041264 2
4535041265 2
64535041266, 4

Question Number : 17 Question Id : 64635010510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T WS 5 Rfar EaTd &

(8) g~ IAHA

(b) T 9w

(cy  TiseiiEa =1 37Em

(dy =TT R AT AT

9= fan e 2 B 99 I 999 F)

(1) (a) FX (b) (2) (b) 3N (c)
(3) (o) 3 (d) (4) (a) I ()
Options : [ k J

64535041363, 1
64535041364, 2
E4E35041365. 3
EAE35041366. 4
~ &

\ [
Question Number : 18 Question Id : 64635010511 &uestion Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a classroom, use of communication technology pre-supposes

(1) Inattentive audience
(2) Luxurious ambience
{3) Extrapolation of contents
(4) New forms of expression and applications
Options :
E4E25041267. 1
E4525041368. 2
E45350413659. =
64535041370 4

Question Number : 18 Question Id : 64635010511 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TR ar ° =T Wi=iieER o 37§ e greae B R -

(1)  AITTF ATEF

(2)  ATOHTF THET

(3) a1 afEEm

(4)  AlpFEFaal A0 FIHE0 * 90 59

Options :

64535041367, 1
64535041268, 2
64535041269, 5
64535041370 4

' d
Question Number : 19 Question Id : 64635010512 Question Type : MCQ Option Shuffling : No Display Questién Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a classroom, content produced for a specific user will lead to

(1) personality development {2) content filtering
(3) personalisation {4) general academic integration
Options : / 'L __J'

E4535041271. 1
645350412372 2
64535041373, 3
64535041374, 4
V.

Question Number : 19 Question Id : 646350105_;% buestion Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
w41 § T fafeme warea = fow oo i 7 fawgasg =1 vy g

(1) oafEFae e (2) Faraeeg wheies
(3) T (4) =T S T
options: [ 1\

64535041371, 1
EAE350412372. 2
E4E35041273. 3
64535041274, 4

J

Question Number : 20" Question Id : 64635010513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The sequential order of elements in classroom communication is

(1) knowledge, interest, evaluation, awareness
(2) awareness, interest, evaluation, knowledge
(3 evaluation, awareness, knowledge, interest
(4) interest, knowledge, evaluation, awareness

Options:  Examrace WWW.examrace.com



E4E350412375. 1
64535041276, 2
645350412377, 3
645350413758, 4

Question Number : 20 Question Id : 64635010513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FHTTT THIT F dodl & T #T 7 -

(1)  =H, ¥, geaTe, A
(2) AR, B, YEATEA, T

(3)  TEATEA, A wd, T, 5

(4)  F=, IH, AT, A

Options :

64635041375, 1
4835041376 2
64535041277, 5

64635041378, 4
¥ j

§
' |

|'
Question Number : 21 Question Id : 64635010514 Question Type : MCQ |Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical “5“

Correct Marks : 2 Wrong Marks : 0
Choose the missing term out of the following :
JAK, KBL, LCM, MDN,

(1) OEP i2) NEO
(3) MEN (4) PFQ
Options : -

6453504127591
64535041280, 2
64535041381, 3
E4E35041382. 4

-

Question Number : 21 Question Id P64635010514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2-Wrong Marks : Q
FrfatEa § 5 Jea = T
JAK, KBL, LCM, MDN,

(1) OEP (2) NEO
(3) MEN (4) PEQ
Options :

64535041379, 1
64535041380, 2
64535041381, 3
EAE350412382. 4
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Question Number : 22 Question Id : 64635010515 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If the number 345xy is divisible by 90, then (x + ¥)

{1} 9 (2) B
(3) 7 4y 8
Options :

E4E350412383. 1
E4535041284. 2
64535041285, 3
64535041386, 4

Question Number : 22 Question Id : 64635010515 Question Type : MCQ Option Shuffling : No- Display QueJ;lon Number : Yes
Single Line Question Option : No Option Orientation : Vertical [

Correct Marks : 2 Wrong Marks : 0
Ife =M 345xy 0T =2 %, A (x+ ) =7

. 0 (2) 8
B 7 4) 6
Options : [ '[

E4E350412383. 1
E4535041284. 2
64535041285, 3

64535041386, 4
L

¥

Question Number : 23 Question Id : 64635010516 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 -
On a map, 1inch represents 250 miles. What is the actual distance between two cities if they

are 4% inches apart on the map?

(1) 1100 miles (2) 1125 miles
i(3) 1150 miles i4) 1200 miles
Options :

64535041387, 1
64535041388, 2
E4E35041289. 3
E4E35041230. 4

Question Number : 23 Question Id : 64635010516 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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FoRel A=A W 1 59 250 Wi 0 WER O g AT 9 " g el W= gl 4%3’3%'&1
S i W ATEdla &l T

(1) 1100 HT= (2) 112574
1] 1150 HT= (4 1200"=
Options :

645350412387, 1
64535041388, 2
64535041389, 3
E4E35041230. 4
f

Question Number : 24 Question Id : 64635010517 Question Type : MCQ Option Shuffling : No Display Que?i’or‘l Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 i f
If 80% of (a—b) =40% of (a+b), then what percent of @ is b?

(1) 20% {2y 25%
(3) 40% (4) 20%
Options : f,, |

64535041291, 1
645350413392, 2
64535041333, 3
E4E35041254. 4

b

Question Number : 24 Question Id : 6463501051 ghe_Stion Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientationi: Vertical

Correct Marks : 2 Wrong Marks : 0 .
e (o —b) F 60%=40% =i (a+b) &, a =1 b Tord ufawe g ?

(1) 20% {2y 25%
(3 40% (4) 5H0%
Options : F F)

64535041391, 1
64535041332, 2
E4E350413593. 3

E4E350412394. 4
\

|

Question Number : 25 Question Id : 64635010518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question:Option : No Option Orientation : Vertical

Correct Marks : 2 Wronb Marks : 0
What will be the ratic of simple interest earned by certain amount at the same rate of
imterest for 8 years and that for 12 years?

(1) 3:4 & 2:3
(3) 4:3 {4y Data inadeqguate
Options :

64535041285, 1
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E4E35041396. 2
64535041257, 3
6453504123958, 4

Question Number : 25 Question Id : 64635010518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ToRHT T8 70 9 99 1 12 519 =R TolU Uk JHT= =471 51 ° ATid gm0 =471 I F97d F47 50 7

) 2:4 2 2:3
(3) 4:3 (4) HTFS AYI F
Options : &

64535041395, 1
645350413396, 2
E4E350413597. 3
E4E3504123958. 4

i
Question Number : 26 Question Id : 64635010519 Question Type : MCQ ©Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical /,a’ P

Correct Marks : 2 Wrong Marks : 0 4 |
‘All Judges are fairminded’ is an example of proposition.
(1) Universal affirmative (2) TUniversal negative
(3) Particular affirmative (4} Particular negative

Options : ‘- & |

E4E35041299. 1
E4535041400. 2
64535041401, =
64535041402, 4

il -
Question Number : 26 Question Id : 6463501(5519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks 0

‘T ST g § 98 T = IR B

(1y Gy faga (2) TTEm g

(3)  Tafme =g (4) Tafime fog
Options : |

E4535041299. 1
64535041400, 2
64535041401, 3
6453504140Z. 4

Question Number : 27 Question Id : 64635010520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In which of the following arguments ‘the relation that exists between premises and
coneclusion is that of logical necessity™?

(1} Induective (2} Deductive
(3} Demonstrative (4) Analogical
Options :

E4E35041403. 1
E4535041404. 2
64535041405, 3
64535041406, 4

Question Number : 27 Question Id : 64635010520 Question Type : MCQ Option Shuffling : No Display (ﬁuestion Number : Yes
Single Line Question Option : No Option Orientation : Vertical F

Correct Marks : 2 Wrong Marks : 0 {
feteatiaa foFa Tieaal § g 997 A Fekd & 51 o 994 50 ¢ 9% aliesd d-Edd = g 6

(1y  AVHATEF (2y T
(3)  Treskras (4) HTETIHAF
Options : f |

E4E35041403. 1
E4535041404. 2
64535041405, 3
64535041406, 4

e & I

Question Number : 28 Question Id : 64635010521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientat'rpn't: rtical

Correct Marks : 2 Wrong Marks : 0 ==

Six friends A, B, C, D, E and F are sitting in a closed civele facing the centre. E is to the left
of D C iz between A and B. F is between E and A. Who is to the right of C?

) A (2) B
(3 D 4) E
Options : -

64535041407, 1
64535041408, 2
64535041409, 3
E4E35041410. 4

i
Question Number :'28, Question Id : 64635010521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line QuestionOption : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FEWFA B C,D.EFNFURas a0 1 ¥ o AL o@d gL dc 3| E, D= ardf AL C, A I+
fFEA R FEANASTEHE 2 CH e AAFAE?

(1) A (& B
(3 D 4y E
Options :

64635041407, 1
E463504 14808 (wace www.examrace.com



E453504140%3. 3
64535041410, 4

Question Number : 29 Question Id : 64635010522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Inference {anumana) in Indian Logic is rooted in

(1) variable relation between minor term and major term
(2) invariable relation between middle term and minor term
i3 variable concomitance between middle term and major term

(4) invariable concomitance between middle term and major term

Options :

4635041411, 1
64535041412 2
64535041413 =

64535041414, 4
1

[

Question Number : 29 Question Id : 64635010522 Question Type : Q{BQ Option Shuffling:: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical £ |
|

Correct Marks : 2 Wrong Marks : 0 i J
AT TR § A0 1 0d 7

(1) 7 9% AN 0T 73 &9 ThEd g9y
(2) eI T4 AR ML % #E AT G99
(3)  HEAEdl T8 A A TR o W= Tl dgaiadl
(4)  TEFEd TE AN 0BT TS o w1 A9iEd gt
Options :
64635041411, 1
64635041412 2

64535041413, 3
64535041414, 4

a

Question Numiber : 30 Question Id 64635010523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No tion Orientation : Vertical

Correct Marks : 2. Wraong Marks : 0

A B C D E and F are six members in a family in which there are two married couples.
E. a teacher is married to the doctor who is the mother of C and F. B, the layer is married to
A A has one son and one grandson. Of the two married ladies one 15 a housewife. There 15
also one student and one male engineer in the family. How is A related to C?

(1) Grandfather {(2) DMlother
(3) Sister (4) Grandmother
Options :

E4535041415. 1
64535041416, 2
64535041417, 3
64535041415, 4
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Question Number : 30 Question Id : 64635010523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

% TER H A B, C. D, E 3t F o: geex £ fod 8 2 fmnfeg 20t 1 E = o Toges 2, = fomme
A A AA CIN FHA T BRAFA e MR AR M2 AT & @AM TF T2 3
fearfeaafeenat & o Ui 2| TR § o e s s i AF CH F ey 77

(L = (2) =T
(3 = (4) =
Options :

E4535041415. 1
E4535041416. 2
64535041417, 3
645350414185, 4

I-' r
Sub-Section Number: 4 . > r
Sub-Section Id: 646350502 1 (
Question Shuffling Allowed : Yes _+

7 A
|
Question Id : 64635010524 Question Type : COMPREHENSION gub Qulestion-'ShuffIing Allowed : Yes Group Comprehension
Questions : No / /
Question Numbers : (31 to 35) ! Il, !

Question Label : Comprehension

Consider the following table that shows the distribution of students in two sections Aand Bin a
school according to the marks obtained by them. There 15 a total of 45 students in each of the
sections A and B. Answer the guestions based on the data contained in the table :

MMarks obtained by students

Marks MNumber of students in
in class interval Section — A Section — B

[0—91 2 4
[10 —19] 5] 2
[20 — 29] 10 g
[30 — 39] 4 4
[40 — 49] 8 i
[50 - 59] 4 5
[60 — 6] T 5
[70 - 79] 5] 5

Sub questions

Question Number ;31 Question ch : 64635010525 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Questian Option : No /Option Orientation : Vertical

Correct Marks : 2 Wreng Marks : 0

If the pass mark 15 30, what 1s the number of failures in both the sections together?

(1) 43 2y 35
(3) 16 4) 26
Options :

E4E35041413. 1
E4E35041420. 2
64535041421, 3
64535041422, 4

Examrace www.examrace.com



Question Number : 32 Question Id : 64635010526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If the pass mark 1= 40, approximately what is the percentage of successful students in
Bection — B?

(1) 48% 2y 51%
i3) 0% 4y 47%
Options :

E4E35041423. 1
E4E35041424. 2
64535041425, 3
64535041426, 4
{

r
Question Number : 33 Question Id : 64635010527 Question Type : MCQ Option Shuffling : No bisplay Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 q

How many students in Section — A and Section — B together have obtained marks less
than 107

(1) 10 2y 11
(3) 12 {4y 6
Options : ' g’”

64535041427, 1
64535041428, 2
64535041429, 3
E4E35041420. 4

Question Number : 34 Question Id : 64635010528 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orieptation : Vertical

Correct Marks : 2 Wrong Marks: 0§

How many students in Section — A have cbhtained 30 or more marks but less than 507

1 12 @ 14
(3) 10 @) 13
Options : "

64535041431, 1
64535041432, 2
E4E35041423. 3
E4535041434. 4

r

Question Number : 35 Question Id : 64635010529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

How many students in Section — A and Section — B have obtained 50 or more than 50 marks?

(1) 23 (2) 43
(3) 32 4y 34
Options :

5453504 1 g2@mrace www.examrace.com



E4E35041436. 2
64535041437, 3
64535041435, 4

Question Id : 64635010524 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Juestion Label - Comprehension

fepAtertiaa arfers =1t Teramfelat =1 Wrea (=1 %A@ ia=rea § 2 #a7 A A1 B H faanfei % faam =
ZAI 7| Wed e HeeH A IR B 1 F9 45 T §) A 0 9 e ARl % a9 1 39 gt

Tt =1 Wre 3R
LT faEmrE = HE
TR Fpm- A deE-B

[0—8] 2 4
[10—19] 8 5
[20—29] 10 2]
[30-39] 4 4
(40— 48] B i
(50 —39] 4 ]
(60 —69] T ]
[T0—T79] 5 6

Sub questions K

Fd

-

%
Question Number : 31 Question Id : 64635010525 QuestionType : MCQ ({ption Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation;j"v tical

Correct Marks : 2 Wrong Marks : 0 A, @

I8, FATF 30 7, 9 &1 HFEH H AFArT Tl 1 F9 Fe e 67
(1) 43 2y 35

(3) 16 4y 26
Options : ! (

E45350414139. 1
64535041420, 2
64535041421, 3
64535041422, 4

Question Number : 32 Question | | : 64635010526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Tie FHE 40 3 Ff HEEE B § IHIY B TTe il 6 9ias o fea 27

(1} 45% 2y 31%
(3) a0% {4y 47%
Options :

64535041423 1
64535041424, 2
64535041425, 3

E4E25041426 4
Examrace WWw.examrace.com



Question Number : 33 Question Id : 64635010527 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TFH - A AR GFH - B 241 § e fenfEigl 3 10 © 9 o7 wwd fpu?

(1) 10 2y 11
i3) 12 4y 6
Options :

64535041427, 1
64535041428, 2
E4E35041429. 3
E4E35041420. 4
7

Question Number : 34 Question Id : 64635010528 Question Type : MCQ Option Shuffling : No Eisplay Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
o7 - AT Toee feraniRi=t 3 30 1 Afg= o fofd 50 9 9 9% W U 27

{1) 12 2y 14
{3) 10 4y 13
Options : } ,;.4

E4E35041421. 1
E4E3504143%2. 2
64535041433, 3
64535041434, 4

Question Number : 35 Question Id : 64635010529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 i
O9EH - A #11 9999 - B O oo Toafelat 9 50 97 50 © #7937 W Tehu?

(1) 23 (2) 43
(3) 32 4y 34
Options : |

64535041435, 1
E4E35041436. 2
E4E35041437. 3
64535041435, 4

r

Sub-Section Number: 5
Sub-Section Id: 646350503
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635010530 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Examrace www.examrace.com



While sending an e-mail, to differentiate among To :, Ce: and Bee : fields, which one of the
following statements is True?

(1) Recipients in the To : field can see the email addresses that are in the Bee : and Ce:
fields

i(2) Recipients in the Ce : field can see the email addresses that are in the To - and Bee:
fields

(3) Recipients in the Bee : field can see the email addresses that are in the To : and Ce:
fields

i4) Only the recipients in the Ce : field can see the other email addresses in the Bee : field

Options :
64535041439, 1
64535041440 2
64535041441 =
64535041442 4
Ip' r
Question Number : 36 Question Id : 64635010530 Question Type : MCQ Option Shuffling : Ne~Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical J

Correct Marks : 2 Wrong Marks : 0 - ¢
T % O Y9d 599 To ;. Ce: 31T Bee : Fivel § 88 %04 =& 9oy o Fefaiad s= § © =9-971 98
27

(L} To : Five H Weaswdl Bee : 31T Ce : WIesl § =M= 3Hd T4 =+ 2@ T4 T
(2) Ce - Files § Wedsdl To - 31T Bee - Wiesl § =M 309 Tal = 4@ Td &)
(3)  Bee:Wies H Wrawdl To: 31 Ce: Fiesl B =W 30 T4 i %@ T%d 3
(4) Ce - %ive § a9 Weasdl Bee : Hiesl § 37 09 Td #I 48 T%d 7|

-

Options :
6453504143931
64535041440, 2
64535041441 =
64535041442 4
{ -
Question Number : 37 Question Id : 6463501({531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks {0

A group’s access to digital technology and ancther group’s lack of access to it, will cause a
disparity known as

(1) Internet inequality (2) Web inequality
{3} Technological imbalance i4) Digital divide
Options : |
64535041442, 1
64535041444, =
64535041445, 3
E4E3504144E. 4

Question Number : 37 Question Id : 64635010531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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U HHE I TEfeee Wi = Sremead A g8t §g =1 9o Aresed | S fouwar 3o B 3
1 = 2

(1)  SELHZ FEAHA (2) #9 FEAEA
(3)  WETERE AEgEH (4) Tefaes fawrsm
Options :

64535041442, 1
64535041444, 2
64535041445, 3
E4E3504144E. 4

F 1
Question Number : 38 Question Id : 64635010532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical /

Correct Marks : 2 Wrong Marks : 0 {

In internet terminology, what does the acronym WYSIWYG stand for?

(1) Why You Saw Is What You Got (2) What You See Is What You Get

(3) Where You See Is Where You Got (4) What You See Is What You Got
Options : ;‘J " ,
64535041447, 1
64535041445, 2
64535041449, 3
E4E35041450. 4

-

%

5
Question Number : 38 Question Id : 64635010532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientatiori®, Vertical

Correct Marks : 2 Wrong Marks : 0 Vi
T WO TR | T wes WYSIWYG =7 o/ gran 27

(1) =ELH AR LM (2) TRLH FMEZLE
(3) TEALAH TSI L (4) =L H WEZ L
Options : "4

E4535041447. 1
645350414458, 2
64535041449, 3

E4E525041450. 4
I

Question Number :R'39 Question Id : 64635010533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line QuestionOption : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Software that vou can download for free, but have to pay to continue its use after a trial
period 1= called

(1) public domain software {2y freeware
(3 open-source software {4y shareware
Options :

C4535041451. 1
64535041 45xanmrace Www.examrace.com



E4535041453. 3
64535041454, 4

Question Number : 39 Question Id : 64635010533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Hives 7L, T AT ek SreAaie F1 9 3, Tohd 99a Fa9 = T9=rd, 39 T = T * fau

(1)  TEaF ST eI (2) WET
(3)  AH-HE TR (4) TEET
Options : &

64535041451, 1
64535041452, 2
E4E35041453. 3
E4535041454. 4

i
Question Number : 40 Question Id : 64635010534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical /,a’ -

Correct Marks : 2 Wrong Marks : 0 4

Which one of the following computer components is fastest in terms of speed of access?

(1) USE Drive (2)  Solid State Drive
(3) RAM {4} Hard Disk Drive
Options : - A E

E4535041455. 1
E4535041456. 2
64535041457, 3
645350414558, 4
P
L

Question Number : 40 Question Id : 64635010534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No: Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
e et ol 4 H F9-91 953 =i a1 7% # wad ga 2 e

() A A (2) Hitdg T2z grA
(3) W (IMuW) (4) =E forw g
Options : \

E4535041455. 1
64535041456, 2
64535041457, 3
64535041458, 4

Question Number : 41 Question Id : 64635010535 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Examrace www.examrace.com



One of the main outcomes of the Rio +20 conference was to develop a set of

(1} Sustainable Development Goals (2) Millennium Development Goals
(3) National Development Strategy {4) National Land Restoration Strategy
Options :

E4535041459. 1
64535041460, 2
64535041461, 3
64535041462, 4

Question Number : 41 Question Id : 64635010535 Question Type : MCQ Option Shuffling : No Display Questlon Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Tl +20 FHEA 1 OF 7 T T 9= & HHE #0197

(1)  =EEE w98 (2) TEEEs " A
fe (4) T g T Ty

(3 TS Taerrd T

Options : g 1 {
4835041459, 1
4535041460 2
64535041461, =
64535041462, 4

Question Number : 42 Question Id : 64635010536 Quesryhon Type : MCQ O'p fflmg No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Ve
Correct Marks : 2 Wrong Marks : 0 a 1

The time frame for the implementation of Millennium Development Goals was,

(1) 2000 — 2005 (2) 2000 -2015
(3) 2005 — 2010 (4) 20002012
Options : -' \

64535041462, 1
E4E35041464. 2
E4535041465. 3
64535041466, 4

Question Number : 42 Question Id : 64635010536 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TEaTEs T FEl % A=A I 7

{1} 2000 — 20035 {2y 2000- 2013
(3) 2005 — 2010 (4) 2010- 2020
Options :

64535041463, 1
64535041464, 2
64535041465, 3
EAE350414EE. 4
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Question Number : 43 Question Id : 64635010537 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The duration for which of the usable compost generation 15 3—6 months?

(1) Vermi composting {2y Semi-Automatic waste converter
(3) Pit composting (4) Automatic waste converter
Options :

64535041467, 1
64535041468, 2
64535041469, 3
E4E35041470. 4
f

Question Number : 43 Question Id : 64635010537 Question Type : MCQ Option Shuffling : No Display Que?ibn Number : Yes
Single Line Question Option : No Option Orientation : Vertical ¥y

Correct Marks : 2 Wrong Marks : 0 i §
FratatEa § 8 e Sy e e = a9 -6 A R B T s
(1y =i S (2) HF-THNAG 99 gUEaF
(3) Tz o (4) TE=TAd g4 HHgdE

Options : .J‘F I

64535041467, 1
64535041468, 2
E4E35041469. 3
E4E35041470. 4

- |

Question Number : 44 Question Id : 64635010538 "Qu\% ion Type : MCQ Opt|on Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orlentat*prh rtical

Correct Marks : 2 Wrong Marks : 0
Oligotrophic lakes are characterized by

{1} High level of nutrients (2) Low level of nutrients
(3) Absence of nutrients (4) High level of organic matter
Options : ‘4

E4E525041471. 1
E4B25041472 2
E4E35041473. 3

E4E35041474. 4
[

Question Number :‘144 Question Id : 64635010538 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wreng Marks : 0

A Sl 1 faema g 2

(1) T # I TN (2) TEH F1 7 T
(3) g F AYE (4) S IRl 1 3= T
Options :

64535041471, 1
64535041472, 2
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E4E35041474. 4

Question Number : 45 Question Id : 64635010539 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

With increase in temperature, the dissolved oxvgen content in a water body

(1) decreases
(2} Inereases
(3) remsain constant

(4} may increase or decrease depending on the temperature range

Options :

64535041475, 1
64535041476, 2
4835041477, 2
4535041478 4

L

Question Number : 45 Question Id : 64635010539 Question Type : MCQ Optlon Shuf;ﬂlng "No Dlsplay Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical {

Correct Marks : 2 Wrong Marks : 0 | F
A | 903 F 7™ A4 e | faates AifEesa 19

(1) =& 2
(2) FEd R
(3) TERETR

(4)  AIHE TOE F AFHE gEd 71 g4 2
Options : W "9
64635041475, 1
64635041476, 2
64635041477, 3

E4535041478. 4

Question Number : 46 Question iii 64635010540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Questlon Option : No Optlon Orientation : Vertical

Correct Marks': 2 Wrong Marks : Of

The eonstitution of India provides right to establish educational institutions of their choice
by all minorities as per

(1) Article 30(1) (2) Article 29
(3) Article 33 (4}  Article 16(2)
Options : - 4

645350414739, 1
64535041450, 2
E4E35041481. 3
EAE35041482. 4

Question Number : 46 Question Id : 64635010540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  I1F=7 30(1) (2) 7T 29
(3)  wg=e 33 (4) II=IT 16(2)
Options :

E45350414739. 1
64535041480, 2
64535041481, =
645350414582, 4

Question Number : 47 Question Id : 64635010541 Question Type : MCQ Option Shuffling : No Display Questlon Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 ¢
SWAYAM refers to
(1) Study World of Action-Learning for Young Aspiring Minds
(2) Study Webs of Active-Learning for Young Aspiring Minds
(3) Student World of Action-Learning for Young Ailing Minds
(4} Study Webs of Active-Learning for Youth Awareness hModels
Options : F ' #
E4525041455 1
64535041454 2
64535041455 =
64635041486 4

%
Question Number : 47 Question Id : 64635010541 QuestionType : MCQ Jpnon Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option OnentauonKqutlcaI

Correct Marks : 2 Wrong Marks : 0 L, €
THEA TAR T (W) | AT

(1) 22 I AT UEH-A-7 BT 37 T 9559
(2)  TZEI 950 ATF Uded-=-1 FIL T TETITUT A15-5H
(3) TEErZ Tve ATH WHEH-FI- BT T Uel HT3-58
(4) 22 =0 AT UFed-H- B I8 AT HT55H
Options : 4 “j

646350414533 1

64535041454 2

E4E35041485. 3
E4E35041486. 4

\

Question Number : 48 Question Id : 64635010542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is an educational FM radio network?

(1) Gyan Darshan {2) Gryan Vani
(3) van Dhara i4y GIAN
Options :

E4535041457. 1
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E4E35041489. 3
64535041430, 4

Question Number : 48 Question Id : 64635010542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ffatiaa § ® FH-31 figites T w0 e e 27

(1) FHAZIA (2) 30 =T
(3) FHEW (4) S AR T
Options :

64535041457, 1
64535041488, 2
E4E35041489. 3
E4535041430. 4

Question Number : 49 Question Id : 64635010543 Question Type : MCQ Option Shuffling : No Dlsplay Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical i

Correct Marks : 2 Wrong Marks : 0 il \ {

Which one of the following reports addressed the academiec, technical and administrative
problems of the examination system?

(1) Report on standards of the Educational Svstem (1965)
(2) Report of University Education Commission (19458-49)
() Sargent Report (1944)

(4) Hartog Committee report (1929)

Options : H - 4_'“
E4E525041491. 1

E4525041492 2

E45350414593 =

64535041454 4

Question Number : 49 Question Id : 64635010543 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No®Option Orientation : Vertical

Correct Marks;: 2 Wrong Marks : 074
FreAtatgg wraeeat § & Torg= 7 gn worrst =ht Sgiorss, el 31T Neei-s Saea 5 gt =Rt

(1y  Tofé @19 2-ssg ATF 2 UGHeHT (902 (1965)
(2)  TOOTE AE T UAHEHE FHEE (1948-49)
(3) =Tz T (1944)

(4) e w=Ed e (1929)

Options :

64635041491, 1

64635041492, 2

E45350414353. 3
E45350414594. 4

Question Number : 50 Question Id : 64635010544 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Q‘.__Lestion Oé)tion : No Option Orientation : Vertical
xamrac www.examrace.com



Correct Marks : 2 Wrong Marks : 0

During which wvear the present system of affiliation of colleges to the Universities was
mtroduced in India?

(1) 1857 (2) 18948
(3) 1928 (4) 1966
Options :

E4535041455. 1
645350414356, 2
64535041457, 3
645350414358, 4

Question Number : 50 Question Id : 64635010544 Question Type : MCQ Option Shuffling : No Display éuestlon Number : Yes
Single Line Question Option : No Option Orientation : Vertical -.r‘

Correct Marks : 2 Wrong Marks : 0
i § Tkl i vt 8 grga i e gome A e g

- =

(1) 1857 (2) 1948
(3 1928 {4y 1966
Options : ;’J |

64535041455, 1
64535041436, 2
64535041437, 3
E4E350414355. 4

" [
</ '
b
PART II Archaeclogy
Section Id : 646350292
Section Number : ” - 2
Section type : { Online
Mandatory or Optional: { Mandatory
Number of Questions: N 100
Number of Questions to befattempted: 100
Section Marks: i 200
Display'rNumber Panel: f Yes
Group All Questions: . No
I
\ Sub-Section Number: 1
. Sub-Section Id: 646350504
» Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635010545 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Blade and burin industry 1s firstly found in which gravel deposit of Belan river valley?
1. First gravel deposit
2. Second gravel deposit
3.  Third gravel deposit

4. Fourth gravel deposit

Options : i
E4E825041455 1
E4525041500. 2
E4535041501. =
64535041502 4

4

Question Number : 51 Question Id : 64635010545 Question Type : MCQ Option Shdfﬂing »No Displéy Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical _ & 1 (

Correct Marks : 2 Wrong Marks : 0

Waﬁwﬁm&@ﬁﬂ%ﬁaﬁémﬁw%maﬁm@ﬁﬁwﬁwww
1. yynsicery Heg

2. g afeera ey
3. gdm sfeerA Feg
4. =gy oA Hem

Options :

64535041499, 1
64535041500 2
64535041501, =
64535041502, 4

]
¥ "
i 1
Question Number : 52 Question IdJ646§5010546 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2_Wrong Marks : 0

The author of “Aspects of Prehistory” is
1. Colin Renfrew
2. E.R. Service
3. Grahame Clark

4. James Mellart

Options :

E4E3504 1503 1
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E4535041504. 2
64535041505, 3
64535041506, 4

Question Number : 52 Question Id : 64635010546 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“TUECH 3P DR &1 99® & 87

1. Sifer &b
2. 3. R 99
3. YIgH &%
4. W HER
Options : . ,

64535041502, 1
E4E35041504. 2
E4535041505. 3
64535041506, 4

J
¥

Question Number : 53 Question Id : 64635010547 Question Type : MCQ ‘)ﬁon Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical £

Correct Marks : 2 Wrong Marks : 0 ym

s

.!"'

The factory sites of the Lower Palaeolithic culture in the Belan valley are located on the

foot of hulls

—

2. top of slope of hills
3. middle of the slope of hills

4. flat alluvial plain

Options :
64535041507 1

E4E35041508. 2
E4535041509. 3
64535041510, 4

Question Number : 53 Question Id : 64635010547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Ugrgaliss -
2. Ugisai s g & I 71
3.  Uglsdl & gdF & A H

4. THIE Tog HoF & g99 Sl e o

Options :

64535041507, 1
64535041508, 2
64835041509 2
64535041510, 4

Question Number : 54 Question Id : 64635010548 Question Type : MCQ Option Shuffling : No Dlsﬁlay Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical ; 2

Correct Marks : 2 Wrong Marks : 0 - N 5 i

Thermoluminescence dating method measures which one of the following?

1.  Proton
2. Neutron
3.  Electron
4. Argon

Options :

64635041511, 1
64535041512 2
64535041513 =2
64835041514 4

Question Number : 54 Question Id P64635010548 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : Q

a1y Tl H1a- iR g # Fakied | 3 e e e S 82

1. UkH
2. gH
3. gAegH
4. WA

Options :

E4525041511 1
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E4E35041512. 2
64535041513, 3
64535041514, 4

Question Number : 55 Question Id : 64635010549 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The Neolithic site of Lahuradeva 1s located in the distniet of

1.  Gorakhpur
2. Balha

3. Sant Kabir Nagar

Options : - ¢
64635041515, 1
64535041516, 2
64535041517, =
645350415158, 4

[ i

Question Number : 55 Question Id : 64635010549 Question Type : MCQ Mon Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical r

-

Correct Marks : 2 Wrong Marks : 0 i

g I -a- meﬁ%ﬂiﬁm%
1. TREER
2. dfeEn

Options : . F
64535041515 1
64535041516, 2
64535041517, 5
645350415158, 4

{

Question Number : 56 Question Id : 64635010550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Homo sapiens appeared 1n
1.  Lower Pleistocene
2. Middle Pleistocene
3.  Upper Pleistocene

4, Mesolithic

Options :
64535041519 1

E4E35041520. 2
E4E35041521. 3
BAE35041522. 4

Question Number : 56 Question Id : 64635010550 Question Type : MCQ Option Shuﬁlmg No Dlsplqy Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical {

Correct Marks : 2 Wrong Marks : 0 s % ' i

i Aftew Frafifad 3 2 g g § uee gu A7
1. o edaTga=gn

2. WHeadl AT TaE g
3. Iead Srdd T g

4. HIA UM YT

Options :
64535041519 1

E4E35041520. 2
E4E35041521. 3
BAE35041522. 4

J Ay
Question Number : 57 Question Id § 64685010551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Teri sites are representing the culture

1. Palaeolithic

3. Mesohithic
3. Neolithic
4. Megalithic

Options :
64535041523 1

458350441 SExanmrace Www.examrace.com



E4535041525. 3
BAE535041526. 4

Question Number : 57 Question Id : 64635010551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

8 we Fofufaa 7 3 g dwofd o vl s 8
I RIS i
2. HEUEI S5

Options : 4
64535041523 1
64535041524, 2
64535041525 5
64535041526, 4
III'.. | _I.'r
Question Number : 58 Question Id : 64635010552 Question Type : MCQ ‘Dp on Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical J} /

Correct Marks : 2 Wrong Marks : 0 -
Which of the following books were written by Colin Renfrew?
(@) The Earliest Civilization of the Near East

(k) The Emergence of Civilization

(c) The Ongins of Cavilization

(d) Before Civilization

ChﬂDSE Thﬂ COITect answer fmm I}I.E Cﬂdﬁ g“i."-'{‘ﬂ I.R:l W

1. (a)and (b)
2. (b)and (c)
3. (b)and (d)
4. (a)and (c)
Options : 'l,

64535041527, 1
E4E35041525. 2
E4E35041529. 3
64535041530, 4

Question Number : 58 Question Id : 64635010552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(a) @ 3RRTR RfaEeR o g R

(b) gHoN 3T RfdemzeiR
(¢) T 3TRIoF 3w RdamoR=
(d) fwR Rfessee

"R Rt g 7 A T sw g
L. (a) SR (b)
2. (b) 3R ()
3. (b) 3R (d)
4. (IR ()
Options : £ 1 |

64535041527, 1
64535041528, 2
64535041529, 3
E4E35041530. 4

»

Question Number : 59 Question Id : 6463501055 abe!stion Type : MCQ ‘Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientationi: Vertical

Correct Marks : 2 Wrong Marks : 0 -

Identify among the following Harappan sites which has produced a terracotta wheel
with painted spokes on it from the mature Harappan levels :

1.  Matathal

2. Ropar

3. Lothal

4.  Banawali
Options : A

E4535041531. 1
64535041532, 2
64535041523, 3
64535041534, 4

Question Number : 59 Question Id : 64635010553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. foamyE
2. AW

3. @Yd
4.  SEEEl

Options :

4635041531, 1
64535041532 2
64535041533 =
64535041534 4

4

Question Number : 60 Question Id : 64635010554 Question Type : MCQ Option Shufflmg »No Dlspléy Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical ! (

Correct Marks : 2 Wrong Marks : 0 o

Which of the following Harappan sites has produced fu'e altars from the residential

areas?
1. Kalibangan
2. Lothal
3.  Snauli

4. Farmana

Options : .
£4635041535. 1
E4635041536. 2
E463-041537. 3
E4635041538. 4

Question Number : éo Question Id : 64635010554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Questiagn Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
v
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1. Tl
2. @
3. @
4. TEME

Options : a
64535041535, 1
64535041536 2
4835041527 2
4535041528 4

1
r

Question Number : 61 Question Id : 64635010555 Question Type : MCQ Option Shuffling “No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical . .

Correct Marks : 2 Wrong Marks : 0 & »

Who among the following propounded the theory of “Wave of Advance Model’ 1n
archacology?

1.  William Jones
2.  Colin Renfrew

3.  Alfred Pictel

4. K. Padayaya

Options : |
E4535041539. 1
64535041540, 2
64535041541, 3
64535041542, 4

Question Number ::61 Question Id : 64635010555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
v
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Fafeea d 9 e guaa Rigra <39 oife tesa sisa’ [igid &1 widures fear ur?

1. fafes Sig
2. Sife FwBHE
3. 3@bs fUecd
4. & UGl

Options :

64635041539, 1
64535041540 2
64535041541 =
4835041542 4

L]

r

Question Number : 62 Question Id : 64635010556 Question Type : MCQ Optlon Shuﬂﬂmg 0 Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 ,'F" o

The mature Harappan remains at the famous urban Harappan site were overlying with
which of the following cultural remains?

1. Hakra
2. Namazga
3. Kot Dijian

4.  Sothi-Siswal

Options :

64535041543, 1
64835041544 2
E4E35041545 =2
64535041546, 4

Question Number : 62 Question Id : 64635010556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :'0
v
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P R ¢?
1. ERpsl
2. THO
3. @i e
4. Orf-drema
Options : ' 7

E4E35041543. 1
E4E35041544. 2
64535041545, 3
64535041546, 4
4 { (

Question Number : 63 Question Id : 64635010557 Question Type : Q Option Shuffling': No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical |
f

Correct Marks : 2 Wrong Marks : 0

|
)

Identify among the following mature Harappan sites where a dead body of a woman
wrapped in reed matting within a wooden lidded coffin 1s found :

1. Mohenjodaro
2, Harappa
3.  Rakhigarhi

4. Farmana

Options : F A
64535041547, 1

64535041548, 2
E4E35041548. 3
E4E35041550. 4

\

Question Number : 63 Question Id : 64635010557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question:Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HigTolgat

2. gl
5 Eliﬂlliafl
4, BXHMAET
Options : 1 4

64535041547, 1
64535041548, 2
E4E35041549. 3
E4E35041550. 4
F L

Question Number : 64 Question Id : 64635010558 Question Type : Q Optien Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
i

Correct Marks : 2 Wrong Marks : 0

|
|
!

Which of the following Harappan sites is considered the largest one in the Indian sub-
confinent?

1.  Kalibangan
2. Rakhigarhi
3.  Lothal
4.  Dholavira

a

Options :
64535041551 1

E4E35041552. 2
E4535041553. 3
E4535041554. 4

Question Number :H64 Question Id : 64635010558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question‘Option : No Option Orientation : Vertical

Correct Marks : 2 Wrbrg Marks : 0
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1. @rdEm

2. &Rt
3. @ud
4, dIEERT

Options :

64535041551, 1
64835041552 2
4535041553 =2
64535041554, 4

Question Number : 65 Question Id : 64635010559 Question Type : MCQ Option Shuffling : No Dlsplay Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical i
= N (

Correct Marks : 2 Wrong Marks : 0

What to do to remove the copper corrosion from the silver objects?
1. Put the object in the ammonia solution
2. Put the object in sodium hydrochloride acid

3.  Put the object in the muxture of caustic soda and tartaric acid

4. Clean the object with the help of knife

Options : '

645350415551

64535041556, 2

64535041557 2

64535041558, 4

Question Number : 65+ Question Id ':r64635010559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

TGl FI aegeit @ aH s &1 gom & for Far e o = niRe?
1. %] & M=o aid | STa

2. T 3 Afson gEgieig s | S
3. I @ Piwe 98l 3R e g & fhyor d 8
4, AP DI GEH | T B IE

Options :
452504155 mnmace Wwww.examrace.com



E4535041556. 2
64535041557, 3
64535041558, 4

Question Number : 66 Question Id : 64635010560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The earliest rock-cut caves excavated by Ashoka and his son Dasaratha were done on
1. Basalt
2. Quartzose-Gneiss
3. Latente

4.  Talc-Schist

Options : s % ' |
645350415591
64535041560, 2
64535041561 =
G4AE35041562. 4
r
{

Question Number : 66 Question Id : 64635010560 Question Type : MCQ O trorrShuffllng No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Veﬂthl [p

Correct Marks : 2 Wrong Marks : 0

&Wﬁmgmm&mﬁwwmﬁwﬁmwmw
1. «9e

2. S ey
3. BEC
4,  HU-EHF den-TBRe

Options :
64535041559 1

E4E35041560. 2
E4535041561. 3
EAE35041562. 4

Question Number : 67 Question Id : 64635010561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The largest monolithic rock-cut Brahmanical temple 1s situated at

Options :

Mahabalipuram
Hampi
Ellora

Thanjavur

64535041563, 1
64535041564, 2
64535041565, 3
64535041566, 4

Question Number : 67 Question Id : 64635010561 Question Type : MCQ O
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fRreray e Rrar-Iepivf sTer 6l st i 27
I

Options :

2

HEISEgRH
2]

RGN
SRR

64535041563, 1
E4E35041564. 2
E4535041565. 3
E4E35041566. 4

|

F |

¥

L
ption Shuffling “No Displ
L {

-

o
ay Question Number : Yes

Question Number : 68 Question Id": 64635010562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question.Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

The largest rock-cut Buddhist chaitya hall in western Maharashtra 1s located at

Options :

Kanheri
Karle
Bedsa

Nasik

Examrace

www.examrace.com



EAE35041567. 1
64535041568, 2
64535041565, 3
64535041570, 4

Question Number : 68 Question Id : 64635010562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o3 HERTY H faean Riar-I@if dig 3 IHRR el safRa e
. o4

2. He
3. dS9
4.  AS
Options : 4 {

E4E35041567. 1
64535041568, 2
64535041569, 3
64535041570, 4
W

Question Number : 69 Question Id : 64635010563 Question Type : MCQ Opti.orLShﬁfﬂing : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Veitical
%,

Correct Marks : 2 Wrong Marks : 0 4

In which inscription is the following sentence written?

“Vichalita kula Lakshmi stambhanayodyatena kshititala ... mta triyama.”
1.  Gwalior inscription of Mihir Bhoja
2. Junagarh inscription of Rudradaman
3.  Bhutan stone pillar inscription of Skandagupta

4. Athole pillar inseription of Pulakeshin 11

Options : \ "
64635041571, 1
64535041572 2
64535041573 2

E4E525041574. 4

Question Number : 69 Question Id : 64635010563 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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feraferfaa arew g arftera o ferar man 82
Trafta Fa aed wrmaras Efdaa = Saen
1. fafRw U &1 aErerR eifvea

2. JSGHA B FANTG e
3. Whed @l Hiad v WY fiee
4. Uienad-11 &1 Ugid W o

Options : ' {
64535041571, 1
4835041572 2
4535041572 2
64535041574, 4

r 1

&

Question Number : 70 Question Id : 64635010564 Question Type :/éQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical / { !

Correct Marks : 2 Wrong Marks : 0 I 1 |

The event of Jinasena image being taken from Patliputra to Kalinga finds mention in
which of the following?

1.  Besnagar Garuda pillar inscniption
2. Aihole inscription of Pulakeshin I1
3. Sarnath Buddha image inscription

4. Hathigumpha inscription of Kharavela

Options : r P
64535041575, 1

E4E3504157E. 2
EAE35041577. 3
E4E35041578. 4

\

Question Number : 7@ Question Id : 64635010564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Or}tion : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Fofafea & 3 foad e & ufam & uefirgy 3 ST o - @1 9e &1 3w &an
T 82

1.  S9R TS WY Hfveg
2. UTE SN GehiRm-11
3. 9RAY g vfaen sifvaa
4., WRAd D1 SRR fieg

Options :
64835041575, 1
4535041576 2
64535041577, 5
64535041578, 4
d {

Question Number : 71 Question Id : 64635010565 Question Type : Q Optien Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
i

Correct Marks : 2 Wrong Marks : 0

Which of the Gupta kings called himself ‘Lichchhavi dauhitra’™?

1.  Chandragupta I

b2

Chandragupta II
3. Samudragupta

4. Skandagupta

Options :

64835041579, 1
4535041580 2
64535041581, 5
64535041582, 4

Question Number : 72 Question Id : 64635010565 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Examrace www.examrace.com



Frafafaa & 1 frg 1w Tgme 3 oo anve) fRrsd-aRT serun

1. FEya-l
2. G-I
3.
4.  Thad
Options : o

E4E35041573. 1
E4535041580. 2
64535041581, 3
64535041582, 4

"

b

Question Number : 72 Question Id : 64635010566 Question Type : MCQ ©ption Shufgfllng No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical / 2

Correct Marks : 2 Wrong Marks : 0

Who among the following kings was the last king to issue bilingual coins?
1.  Kujula Kadphises
2. Wema Kadphises
3.  Kamshka

4.  Huvishka

Options :
64535041583, 1
64535041584, 2
64835041585 =2
4535041586, 4
Question Number :72 Question Id| 64635010566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Quesnc&n Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
F
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Frofafea Tenei 7 9 v Ries It & aren s sifaw e ur?

1. T Hehas
2. fom-wsiraw
3. S

4. ghw

Options :

64535041583, 1
64535041584, 2
64835041585 =2
4535041586, 4

L]

r

Question Number : 73 Question Id : 64635010567 Question Type : MCQ Option Shuﬂ‘llng l\lo Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 ‘.-"’ o

Who among the following has shown the intimate connection between the art and
religion of various nations of the world?

1. Grunwedel
2. Della Setta
3. Foucher

4.  Ananda Coomaraswamy

Options : " 4
C4E35041557. 1
45250415588, 2
45325041589 2

54635041590. 4
I

Question Number :173 Question Id : 64635010567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Questio ‘pptlon No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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FuftiEd § 9 ou= Ry & [Bfw 32 &t oo ek ud & o9 9y 99y @) gafar 22

1. yYTasd
2. S
3. BN
4. 3G PHNREMH!
Options : P

64535041587, 1
64535041588, 2
E4E35041589. 3
E4E35041530. 4

r

Question Number : 74 Question Id : 64635010568 Question Type : MCQ Option Shuﬂ‘llng *\Io Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

-

Which one of the following schools of art/sculpture presents the earliest examples of
Dharmachakraparavartana mudra?

1.  Magadh school of art
2. Mathura school of art
3, Sarnath school of art

4. Amravati school of sculpture

Options : " 4
C4E=25041591. 1
4525041592, 2
4525041593 2

54635041594, 4
I

Question Number :174 Question Id : 64635010568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Questio ‘pptlon No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Fofefed # 9 oF9 sa- REVgfde SHawydd ga B 9auyH IEIeI0 vegd Bl o7

. HY SR
2. Y HAT-IREAT
3. YRAY Har-aRE

4. Hfded BT SFERE-

Options : i ’
64535041591, 1
64535041592, 2
64535041592 5
64535041594 4

r

-

Question Number : 75 Question Id : 64635010569 Question Type : MCQ ©ption Shuiffling :No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical /

Correct Marks : 2 Wrong Marks : 0

*
|

Which among these can be considered a research tool?
1. Questionnaire
2. Graph
3. Ilustration

4. Photographs

Options :

64535041595, 1
64535041596, 2
64835041597, 2
64535041595, 4

Question Number ;175 Question Id : 64635010569 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Questidtn Option : No '‘Option Orientation : Vertical

Correct Marks : 2 Wiong Marks : 0

F
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Fofifea § @ foue! U TY-91y= |19 S 91 22
1. veTaal

2. U%m

3. T gy o=t T

4. BrfE

Options : n‘-
c4e35041595 1
E4E=2E04159E8. 2
4525041597 2
4525041595, 4

i #
Question Number : 76 Question Id : 64635010570 Question Type : MCQ Op;tion Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical ”

Correct Marks : 2 Wrong Marks : 0 |

After how many vears of Ashoka’s coronation, the victory of Kalinga is mentioned in
Rock Edict XIII (Shahbazgarhi)?

1. 8 vyears

2. 10 years

3. 12 years

4. 13 years

. L |

Options :
64635041599, 1
64635041600, 2
64635041601, 3

6453504160Z2. 4

Question Number :1\7 Question Id : 64635010570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question'Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3B & AN & fod a¢ 91g Hier @1 ey @1 Ramn- X111 (ITesnre) H Iwia
fopar mar &2

1. 8a¥
2. 1098
3. 1299
4. 1399
Options : S

E4535041599. 1
64535041600, 2
64535041601, 3

q k|
- 1 "

Question Number : 77 Question Id : 64635010571 Question Type : Q Optfbn Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical ,'

Correct Marks : 2 Wrong Marks : 0 f i |
Arrange the following sequence of evolution of human in ascending order :
(a) Australopithecus afarensis
(b) Australopithecus anamensis
(¢) Australopithecus afric anus

(d) Australopithecus robustus

Choose the correct answer from the code given below :

L. (d), @, (b), ()
2. (d), (), (), ()
3. () (a) (), (d
4. (d),(c), (), (b)

Options :
64525041603 1

E4E35041604, 2
E4E35041605. 2
C4525041 EEManttace Wwww.examrace.com



Question Number : 77 Question Id : 64635010571 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ha & faer & Fafeiiad o &1 SIRIS! HH | Faiid Hif ;
()  omEfuiEd T
(i) SMCAOYsY TR
(i) STRATGY bl
(iv) SEaysy Jawed
4 Ry U % & 9 981 IR FFT
(iv), (1), (iii), @)

ks

2. (i), (@), (iv), Gid)
3. (), (u1), (iv), (1)
4. (@iv), (ii), @), (i)

Options : ‘F i )
64535041603, 1
4835041604, 2
4535041805 2
64535041606, 4

Question Number : 78 Question \% 64635010572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No QFtiop Orientation : Vertical

Correct Marks‘{: 2 Wrong Marks : 0

Examrace www.examrace.com



Arrange the publication of following books in chronological order :
(a) The Earliest Civilizations of the Near East
(b) The Emergence of Civilization
(¢) The Origins of Civilization and the State
(d) Aspects of Prehistory

Choose the correct answer from the code given below :

1. (d), {®), (a), (c)
2. (b),(@),(d,. ()
3. (¢),(d),(a), (b)
4. (c), (), (d), (b)

Options : % % f
4535041607, 1

E4535041608. 2
645350416805, 3
64535041610, 4

]

Question Number : 78 Questionid : 64635016572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ‘)
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Fofuied el & TorRH B HTamHgaR Jaieyd Hifo :
(i) < eRfux Ridegew™ g FRsx

(i) FAoN e Rifdersoier
(i) T 3o 3ifp fafdamseRE 1S g ¥
(iv) Smgtees aifp it

= Ry Mg g # 8 Wt I g

(1v), (1), (u), (@)

[—

2. (1), (i), (1), (iv)
3. (i), (1), (u1), (1)
4. (1), (), (1), (1)

Options : 4 |
64535041607, 1
4535041808, 2
4535041609, 5
64535041610, 4

-

{

Question Number : 79 Question Id : 6463501(;573 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ‘)

 —

Examrace www.examrace.com



Arrange the geological formations of the Middle Son river region from lower to upper
stage :

(a) Khunteli
(b) Sihawal
(¢) Baghor
(d) Patpara

Choose the correct answer from the code given below :

1. (d), (b), (), (c)
2. (b, (a),(d), ()
3. (c),(d),(a),(®
4. (c), (@), (d), (®)

Options : i - .f"

E4535041611. 1
64535041612, 2
64535041613, 3
64535041614, 4

i
|
Question Number : 79 Question Id : 64635010573 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No*Option Orientation : Vertical

Correct Marks{; 2 Wrong Marks : 0-', .
L

¥
- |
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7 i SaEl @1 e 91 TG 8 § Y 9 S oEwT a9 Safeid fheig -
() gl
(i) Ferad
(iii) TR
(iv) TAuRT

9 o e A B 9 TR IR

—_

(1v), (1), (1), (111)

2. (1), (), v), (1)

=

(1), (1v), (@), (1)

4. (), (1), (v), (1)
Options : - § l
4350416111
4525041612, 2

64535041613, 3
64535041614, 4

-

{

Question Number : 80 Question Id : 64635010574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks 40

 —
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Arrange the publication of following books in the chronological order :
(a) Kalambo Falls : Prehustoric Site
(b) Pleistocene Fauna of India
(¢) The Ornigins of Civilization
(d) The Idea of Prelustory

Choose the correct answer from the code given below :

—

(d), (a), (b), (c)

e

(a), (d), (c), (b)
3. (d),{c), (b), (@)

A

(a), (b), (0), (@)

Options : - I
E4E825041615. 1
4525041616 2
64535041617 =
64535041615 4
\

. |
Question Number : 80 Question Id : 64635010574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No:,Option Orientation : Vertical

Correct Marks : 2 _Wrong Marks :ﬁ)
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FHfead G5e| & THRH & SIpHIER Sard HIo :
() o Bl : Digwiie g
(i) OERE B 3l gfEar
(i) 3o 3T U fafemgomm
(v) < 3msfean 3w e
H= Rumuoe # 9 I I gFU

it

(1v), (1), (), (u1)
2. (1), (v), (1), (1)
3. (Qv), (), (1), @

4. (1), (1), (1), (1v)
~y |

Options : o
64535041615, 1
4835041816, 2
4535041817, 2
64535041615, 4

{

Question Number : 81 Question Id : 64635010575 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No. Option Orientation : Vertical

Correct Marks : 2 Wrong Marks #0

 —
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Arrange the following prehistoric stone tools in chronological order :
(a) Trapeze
(b) Burin
(¢) Cleaver
(d) Adze
Choose the correct answer from the code given below :
L. (b), (), (d), (@)
2. (d),(c), (@), B
3. (¢) (d), (), (b)
4. (0),(b), @), @

Options : a 1
64535041619, 1
64535041620 2
64835041621, 2
4535041622 4
|

. |
Question Number : 81 Question Id : 64635010575 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No%)ption Orientation : Vertical

Correct Marks : 2 Wrong Marks :

i —
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ot miteTie TR IUSH0 3 BIaFHTTTR Saedd S :
(i) TS
(i) THUH
(iii) fagrofh
(v) T
= fRumu e 7 3 g8t I g
1. (id), Gii), (iv), ()
2. (v, Gid), (), (i)
3. (iid), (iv), (), (i)
4. (i), (i), (@), Gv)
Options : o 1
catmsoiezo 2

64535041621, 3
EAEZ5041622. 4

{

Question Number : 82 Question Id : 64635010576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No. Option Orientation : Vertical

Correct Marks : 2 Wrong Marks #0
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Arrange the following sites 1in chronological order :

(a) Pusalpadu

(b) Dhaba
(¢) Anagwadi
(d) Didwana

Choose the correct answer from the code given below :
L (D), (c),(a),@d
2. (c),(b),(d), (@)
3. (d),(0), (), (a)
4. (a), (0),(c), (d

Options : k ,‘ {
45350416232, 1
64535041624, 2
64535041625, o
64535041626, 4

Question Number : 82 Question H : 64635010576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marksf: 2 Wrong Marks : O"r’

 —
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Frofeied el ot STasaTguR -sIafed S ;
1) gHeg
i) @
(i) SFTETS!
(iv) Stear
e R Ty e # 9 wel S g
. (i), (i), (i), Gv)
2. (i), (i), (iv), ()
3. (iv), (i), (i), ()
4. (i), (i), (iii), (iv)
Options : ]
casasoatnas

64535041625, 3
64535041626, 4

i

Question Number : 83 Question Id : 64635014577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks 0

Fy "rf
i
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Arrange the following archacological sites in order of their cultural chronology :

(a) Patne
(b) Mahadaha
(¢) Hungsi

(d) Piklihal
Choose the correct answer from the code given below :
1. (0, (a), (b), (d
2. (d),(0),(a),(b)
3. (c), (b), (a), (d)
4. (b), (d), (), ()

Options : - I
E4E25041627. 1
EAE25041628. 2
64535041629 2
64535041630 4
\

. |
Question Number : 83 Question Id : 64635010577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No:,Option Orientation : Vertical

Correct Marks : 2 _Wrong Marks :Q)

 —
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Frafad Wdia® a1 I76 IRSiae HIAHHTR Tareud Hio :
i U
(i) HEIQE
(i) g
(iv) fedea
414 RRumu % 7 3 gE SR AT
L. (i), (), (i), Gv)
2. (iv), (i), (), (i)
3. (i), (i), (), (v)
4. (i), (iv), (@), (i)

Options : % L I‘
4635041627, 1

E4E35041628. 2
64535041625, 3
64535041630, 4

-

Question Number : 84 Questionid : 64635016578 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ‘)

 —
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Arrange the following cultural sites in chronological order :
(a) Narhan
(b) Amil Komn

(¢) Bahadarabad

(d) Abhyapur

Choose the correct answer from the code given below :

L. (), (), (d), (b)
2. (@), (), (D) (a)
3. (b),(d), (), (c)
4. (a), (b), (d), (c)

Options : )
6453504163511

E4E35041632. 2
E4E35041633. 3
64535041634, 4

{

Question Number : 84 Question Id : 64635010578 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No, Option Orientation : Vertical

Correct Marks : 2 Wrong Marks 40
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o SR e gUae W & FEHHTER JoisU :
i =
(i) B
(i) TEeMNRG
(iv) SR
Rt AT TR IRT:
1. (iii), (i), (), (ii)
2. (), (iid), (D), @)
3. (i), (v), @), (i)
4. (i), (i), (iv), (iii)
Options - g [
csssoatea: 2

E4E35041633. 3
E4E35041634. 4

-

{

Question Number : 85 Question Id : 6463501(;579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ‘)

 —
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Arrange the following archaeological objects in order of their introduction for the first
fime :

(a) Corbelled arch
(b) Pot-burial

(¢c) Copper harpoon
(d) Ghat-shaped bead

Choose the correct answer from the code given below :

—t

(b), (@), (¢), (d)
2. (c)(b),(d), (@)
3. (d), (), (a), (D)
4. (a), (d), (b), (c)

Options : k ,1' {
4535041635, 1
64535041636, 2
64535041627, o
64535041635, 4
|
Question Number : 85 Question H : 64635010579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marksf: 2 Wrong Marks : O"r, \
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Fofaied Widaiae axgei B 3 TUH 07 & HH H Fared S ;

() PUS T
(i) —HC-XE=
(i) am A sreerest
(iv) WA HUBT

e fGT T e H ¥ §E I gL
1. (id), @), (iii), (iv)
2. (), (1), av), (@)
3. (i), (i), (), Gi)
4. (i), (Qv), (), Gii)

Options : 4 |
64635041635, 1

64535041636, 2
E4E35041637. 3
EAE35041635. 4

-

{

Question Number : 86 Question Id : 6463501(;580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ‘)

 —
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Arrange the following crops in order of their introduction :

(@ Millet
(b) Cotton
(c) Barley
(d) Wheat

Choose the correct answer from the code given below :
L. (b), (@), (c), (d)
2. (0D, W), @
3. (. (). (b), (@
4. (b),(c), (d), (a)

Options : - £
C4E25041629. 1
C4E=E041640. 2
C4AEZ2E041641. 2
CAE2E041642 4

oy

Question Number : 86 Question Id : 646.3501 580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No- Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
4
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) SR
(i) U™
(i) M
(v) T
= Rumu e # 3 9 W AU

=]

(i1), (1), (i), (iv)
2. (i), (1), (v), @)
3. (), (), ), ®
4. (), (), (v), (1)

Options : 4 [
64635041639, 1
64535041640, 2

E4E35041641. 3
EAE35041642. 4

-

{

Question Number : 87 Question Id : 6463501(;581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ‘)
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Chronologically sequence the following Pallava monuments :
(a) Shore temple, Mahabalipuram
(b) Mandagapattu cave
(¢) Kalasanatha temple, Kanchipuram
(d) Dharmaraja ratha

Choose the correct answer from the code given below :

o
v

(a), (b), (c), (d)
2. (d,(0), ()@
3. (b),(d), (@), ()

4. (d),(b), (c), (a)

Options : - I
E4E8250416435 1
E4525041644 2
64535041645 =
64535041646 4
\

. |
Question Number : 87 Question Id : 64635010581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No:,Option Orientation : Vertical

Correct Marks : 2 _Wrong Marks :ﬁ)
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() gqEl TR W Ryd HieR wrraedis
(i) HSTUCE B
(i) ALY HiGR, BIEIGH
(iv) oFRTS Y
A feu e g A ¥ W IW IR
1. (i), (i), Gii), (iv)
2. (i), (iid), (i), @)
3. (i), (iv), (), (i)
4. (iv), (i), (i), @)
Options : g [
casasoteds 2

E4535041645. 3
64535041646, 4

-

{

Question Number : 88 Question Id : 6463501(;582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ,Q
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Arrange the following Buddhist Stupa sites in chronological order :

(a) Nagarjunakonda

(b) Bharhut
(¢) Sanchi
(dy Bodhgaya

Choose the correct answer from the code given below :
1. (a), (b), (c). (d)
2. (d,(c). )@
3. (b), (d). (0. @
4. (d), ), (o), (@)

Options : | ,F
C4EZE041647 .1
c4dez2E041e48. 2
4525041649 2

64535041650, 4
]

II
Question Number : 88 Question Id : 64635010582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No#Option Orientation : Vertical

Correct Marksf: 2 Wrong Marks : Oy
|
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Frafaied dig WU =@ 3 STamHEER A Hio -
() TS
() HRgd
(i) Gt
(iv) e
- fdu e ge 7 § et S gu:
L. (@), (), (i), (iv)
2. (iv), (iii), (i), ()
3. (id), (iv), (i), ()
4. (iv), (i), (ii), ()

Options : \ % [
64535041647, 1

645350416458, 2
64535041649, 3
E4E35041650. 4

-

{

Question Number : 89 Question 1d : 6463501({583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ‘)
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What would be the correct chronological sequence of the following Orissan temples?
(a) Parashurameshwara temple
(b) Lingaraja temple
(¢) Anantavasudeva temple
(d) Konark Sun temple

Choose the correct answer from the code given below :

[

(d), (0), (b), (a)
2. (b, (), (), (a)
3. (a),(),(c), @

i

(c), (1), (d), (@)

Options : Y " 4
E4535041651 .1
E4E350416582 2
E4E35041653 3
E4E3E041654 4
|

Question Number : 89 Questio'n Id : 64635010583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No gption Orientation : Vertical

Correct Marks': 2 Wrong Marks : 04 |
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IS & Fafufad Hicl & STamHHER Faryd Sife :
() TR HiCR
(i) TR AR
(i) 3FiqaTgeE AR
(iv) I gd Hiee
Fofaied e § 9 98 ST g
1. (iv), Gii), (), ()
2. (i), (i), (iv), )
3. (i), (i), Gii), (iv)
4. (i), (i), (iv), )
Options : ol ' l
cisasoatess 2

645350416853, 3
64535041654, 4

-

{

Question Number : 90 Question Id : 64635010584 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks 40
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Arrange the following inscriptions in chronological order :
(a) Sarnath Buddha image inscription
(b) Hathigumpha inscription of Kharavela
(¢) Khalimpur copper plate of Dharmapala
(d) Mandsore mscription of Yashodharman

Choose the correct answer from the code given below :

]

(b), (c), (d), (a)
2. (a),(b),(c), (@
3. (b)), (d), (©
4. (d),(c), (b), (@)

Options : g |
4535041655, 1
64635041656, 2
64635041657 2
64535041655 4

-

{

Question Number : 90 Question Id : 6463501(;584 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ,‘)
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Fofaied RacEl @ FTaeHRYIR SIaed i ;
(i) ORATY TF UidH @ srfvaa

(i) WRdd &1 AR sfverE

(iil) yHorE o1 EeUR aus

(iv) TYHT BT HGHR fHaE
H= Rumu g # ¥ 98 3w g

1. (i), (i), (iv), @)

2. (1), (1), Gu), (v)

3. (), @), av), ()

4. (), (id), Gi), @)

Options : L. 8
45250416551
c4c2E041656. 2
C4ds32E041657. 2
C4EZE041EEE. 4

Question Number : 91 Question |d : 64635010585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks/ 2 Wrong Marks : O‘f
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Arrange the following persons in chronological order according to the dates of the
inscriptions in which they are referred to?

(a) Harisena
(b) Heliodorus
(¢) Ravikirt
(d) Kharapllan
Choose the correct answer from the code given below :
1. (o), (@), (D), (d
2. (b),(d),(@),(c)
3. (d),(b), (c), (a)
4. (a), (¢), (d), (b)

Options : i L
4535041659 1
64535041660, 2
64535041661, =
64535041662, 4
II
Question Number : 91 Question Id : 64635010585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No™Option Orientation : Vertical

Correct Marks',f. 2 Wrong Marks : 0",

¥
- |
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Frafeiea safeadl @1 3 Gefid Rl @1 aRiE & UR SamHHNER Sard S :
@ B
(i) gloarsRy
(i) A
(iv) TR
i fRT M He # 9 98 I g
1. (i), (), (iD), (iv)
2. (i), (iv), (@), (i)
3. (i), (i), (iii), ()
4. (i), (i), (v), (i)
Options g [
casasoatono :

64535041661, 3
645350416862, 4

-

{

Question Number : 92 Question Id : 6463501(;586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks 30
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Arrange the following inscriptions in chronological order
(a) Sanjan copper plate of Amoghavarsa I
(b) Nidhanpur copper plate of Bhaskarvarman
(¢) Deopara inscription of Vijayasena
(d) Harsa stone inscription of Chahmana Vigraharaja II

Choose the correct answer from the code given below :

[

(b), (d), (c), (@)
2. (d),(),(b)(©

)

(b), (a), (d), (c)

e

(c), (@), (b), (d)

Options : ’ - .f"

64535041663, 1
64535041664, 2
64535041665, 3
64535041666, 4

)
|
Question Number : 92 Question Id : 64635010586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No®“Option Orientation : Vertical

Correct Marksf' 2 Wrong Marks : O-r, .
|
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FofafEd sifteel &1 STasaaR Fayd Sl :

(i) "Iy TYH S Hol- aeu

(i) HTEHR JHE BT R IHuH

(i) fIomEE= @1 CauRT e

(iv) =TEHH faue fedia @1 g Riamca
19 RRT T ge | | 9 IW g

L. (i), (v), Gii), ()

2. (iv), (@), (id), (iii)

3. (i), (), (v), (iii)

4. (), (1), (i1), av)
Options : g |
C4EZE0416E3 1
C4EZE041664. 2

64535041865, 3
64535041866, 4

-

{

Question Number : 93 Question Id : 6463501(;587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks 30

 —
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Arrange the following inscriptions in chronological order :
(a) Bhitari stone pillar inscription of Skandagupta
(b) Mehrauli iron pillar
(¢) Udaigiri cave inscription of Chandragupta II
(d) Mahasthan stone inscription

Choose the correct answer from the code given below
1. (b, (a),(d), ()
2. (d),(e),(b), (@)
3. (a), (), (d), ()
4. (o), (a), (d), ()

Options :

64535041667, 1
64535041668, 2
64535041669 2

E4E25041670. 4

o

Question Number : 93 Question Id : 64635010587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : l\!o. Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :'Q)
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Fafaiad sl @1 HramagaR Tafeyd Sifo ;
i) ooy o oo Ren wy s
(i) Hedd e wH fae
(i) = fadia o1 IgafR Te efvea

(iv) AErRYF Rerce
e fu B 7 9 W@t SW gHT:
1. (1), (1), (v), (1)
2. (), (m), (1), (1)
3. (i), (i), Giv), (i)
4. (iib), @), @v), ()
Options < J

64535041667, 1
64535041668, 2
64535041669, 3

EAE35041670. 4
|

Question Number : 94 Question j& : 64635010588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No4Option Orientation : Vertical

Correct Marks : 2 'Wrong Marks : 0,
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Arrange the following in chronological order :
(a) Hindu Shahi coins of Ohind and Afghanistan
(b) The Chakravikrama type coin
(¢) Gold coins of Kujula Kadphises
(d) Coins of Azes

Choose the correct answer from the code given below :

1. (b), (@), (d), ()
2. (d), (), (b), @)
3. (0 (), () ®
4. (a),(b),(c), (d)

Options :
64535041671, 1
64535041672 2
4535041673 2
64535041674, 4
L
Question Number : 94 Question Id : 64635010588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No. Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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FoiEd @ FTamaHaR ad il |
i) 3ifge 3R i & fig et Res

(i) =HiawH T R
(i) DY Holbad HI WUHE
(iv) T B! eIl

R R B A 9 I I g -

=

(11), (1), (1v), (111)
2. (), (u1), (1), (1)
3. (i), (1), (dv), (i)
4. (1), (1), (i11), (iv)

Options : 4
64835041671, 1
E4E35041672. 2
64535041672, o
64535041674, 4

{

Question Number : 95 Question Id : 64635010589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks #0
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Arrange the following coins in chronological order :
(a) Asvamedha type gold coins
(b) Lion slayer type coins
(¢) Apratigha type coins
(d) King and Queen type coins

Choose the correct answer from the code given below :

L. (a),(b),(c), (d)
2. (d),@), (D),
3. (D), (0). () (a)
4. (c) (@, (®), (@
Options : Y.

64535041675, 1
645350416876, 2
64535041677, 3
64535041675, 4

)
Question Number : 95 Question Id : 64635010589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No®“Option Orientation : Vertical

Correct Marksf; 2 Wrong Marks : O-r,
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FofaEd garell & STawHaR Sard S ;
i) erdy e ol gEmg

(i) THiiHa I gar
(i) i el gz
(iv) FHIC 3R IS el ol gam

—

(1), (1), (iid), (iv)
2. (i), (), (i), (iii)
3. (), (i), (v), ()
4. (iid), (), Gi), (v)

Options : i . f’-
E4E835041675. 1
E4EZE041676. 2
E4E25041677. 2
E4E535041678. 4

oy

Question Number : 96 Question Id : 646{3501 590 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :,b
4
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Acheulian tools have been found from

(a) Attirampakkam

(b) Isampur

(¢) Patne
(d) Bhimbetaka
Choose the correct answer from the code given below :
1. (), (b)and(c)
2. (a), (byand(d)
3. (b), (c)and(d)

4. (a)and (0)

Options : P I
4535041679 1

E4E35041680. 2
E4535041681. 3
645350416882, 4

{

Question Number : 96 Question Id : 64635010590 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No, Option Orientation : Vertical

Correct Marks : 2 Wrong Marks 40
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IrgfasH SR Fufafea A 3 Fei AW gu e
i) SrigesH
(i) SRR
(iii) T
(iv) HiHacs
T Ru U B # ¥ 9 S| A -
. (i), (i) 3R (i)
2. (D), (iD) 3R (iv)
3. (ii), (iil) 3R (iv)
4. (1) 3R (i)

Options : a 1
4250416791

64535041680 2
64635041681 =
64535041652, 4
|
|
Question Number : 97 Question Id : 64635010591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No%)ption Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Which of the following statements are correct?
(a) A negative bulb of percussion will be on the core.
(b) A negative bulb of percussion will be on both core and flake.
(¢) A negative bulb of percussion will be on flake.
(d)y A positive bulb of percussion will be on flake.

Choose the correct answer from the code given below :

1. (a)and(b)
2. (band(c)
3. (0)and(d)
4. (a)and(d)
Options - - f

E4E25041655. 1
4525041684 2
64535041685 2
64535041656 4
\

. |
Question Number : 97 Question Id : 64635010591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No:,Option Orientation : Vertical

Correct Marks : 2 _Wrong Marks :ﬁ)
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Foffead I oR IS TR & -

i) 31U BT HBUTEHSD Jed DI I g
(i) SMTYUTT BT BUNGRI Ted DR d B G T I
(iii) STUT FHT BUTCT Ted HaD W EHT|
(iv) ST BT Y=TeTP §e9 Had UL el
4 fRT T g H § wEl IR gAY

(i) 3R (i)

—
.

2. (ii) 3R (i)
3. (i) 3R (iv)
4. ()M (iv)

Options : | & f
64635041683 1
645350416384, 2
E4525041685. 2
E452504168E. 4

-

Question Number : 98 Questionid : 64635010592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ‘)
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Which of the following European cultures have been related te kesolithie period?
(a) Astunan
(b) Magdaleman
(¢) Maglamosean
(d) Kitchen midden

Choose the correct answer from the code given below :

[

(@), (b), (c)
2. (@,(,W
3. (b),(e).(d)
4. (a), (b).(d)

Options : g |
46350416587, 1
64535041688, 2
64535041689, =
64535041690, 4

-

{

Question Number : 98 Question Id : 6463501(5592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks 30
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Frofafea & & o @ gAda Sefyat gerommorg 3 Faftd @ e
i TR
(i) HTSRAEE
(iil) AR
(iv) fpa=-fiaes
= féu T e # 9 wEt S YU
L. (@), (i), (i)
2. (D), (i), (iv)
3. (i), (i), (iv)
4. (@), 1), @)

Options :
64535041687, 1
64535041688, 2
64535041659, 2
4535041690, 4
L
Question Number : 99 Question Id : 64635010593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No. Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Which of the following were considered doubtful tool industries?

(a) Oldowan
(b) Kafuan
(¢) Sohaman

(dy Cromerian

Choose the correct answer from the code given below :

. (a)and(b)
2. (band(c)
3. (c)and(d)
4. (b)and (d)
Options : "‘ % l

645350416591, 1
64535041632, 2
64535041632, 3
E4E350416394. 4

{

Question Number : 99 Question Id : 64635010593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No. Option Orientation : Vertical

Correct Marks : 2 Wrong Marks #0
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e o 9 o5 Heere SiieR e /T Sl § -
i) s SEm
(1) DPIPAH
(i) SrE=aE
(iv) @EfEs
4 Ry e ¥ § wE W g
. (D), s8R (i)
2. (i), 3R (iii)
3. (iil), 3R (iv)
4. (i), 3R (v)

Options : o
64535041691, 1
48350418392 2
4535041892 =2
64535041694, 4

{

Question Number : 100 Questionld : 64635010594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No. Option Orientation : Vertical

Correct Marks : 2 Wrong Marks #0
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Varieties of wild rice have been reported from
(a) Chopmmando
(by Damdama
(¢) Burzhom
(d) Koldihwa

Choose the correct answer from the code given below :

1. (a), (b)and(c)
2.  (b)andc)
3. (b), (¢) and (d)

4. (a)and(d)

Options : ; b l
64535041695, 1
48350416896, 2
4535041897, 2

E4E35041635. 4

{

Question Number : 100 Questionld : 64635010594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No. Option Orientation : Vertical

Correct Marks : 2 Wrong Marks #0
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g 9199 o) fow Fofiffad dsgi A faeh 2
i) =S

(11) QHGHI
(iii) FeE™
(iv) Bifeagar
A feU e e # 9 FEt SR IR

[r—

(i), (if) 3R (i)
2. (i) @R (i)

3. (i), (i) 3™ (v)
4. (i) 3R (i)

Options : | & f
64535041695 1
£4535041696. 2
E4525041697. 2
E4525041698. 4

-

Question Number : 101 Question Id : 64635010595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ‘)
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Geometric forms of microliths include
(a) Tnangle
(b) Crescent
(¢) Trapeze
(d) Obliquely truncated blade

Choose the correct answer from the code given below :

L. (a), (®), ()
2. (), (.D
3. (a), (), (d)

4. (a), (b), (d)

Options : - I
E4E825041655 1

E4525041700 2

64535041701 =

64535041702 4

\
. |

Question Number : 101 Question Id : 64635010595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Nor,Option Orientation : Vertical

Correct Marks : 2 _Wrong Marks :

/ “, \
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TTST0T & e AR i Sa1fae e # e €
0
(i) orET=
(i) THEd
(iv) MTSIaT= g3 &8

e fRu T B d | IEt S gL

[

(1), (11), (111)
2. (i), (i), (iv)
3. (i), (i), (iv)
4. (i), (i), Gv)

Options : 4 |
64635041699, 1

64535041700, 2
E4E35041701. 3
E4E35041702. 4

-

{

Question Number : 102 Question |d : 64635011-0596 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ‘)
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Which of the following Harappan sites has produced measuring scales?
(a) Mohenjodaro
(b) Kalibangan
(¢) Rakhigarhi
(d) Lothal

Choose the correct answer from the code given below

1. (a)and (d)
2. (b)and (0)
3. (c)and(a)
4. (d)and (c)
Options : al '

645250417021
64535041704, 2
64535041705, 3
64535041706, 4
. . |
Question Number : 102 Question Id : 64635010596 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No:pption Orientation : Vertical

Correct Marks : 2 -Wrong Marks : 0;
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Fofafea ¥ 9 g seurd = AR T gu e
@) HETiEs!
(i) ST
(i) T
(iv) e
9 Ry ge & ¥ 9t I g
. ()8R Gv)
2. (ii) 3R (iii)
3. (iil) 3R (1)
4. (iv) 3R (iii)

Options : - f
64535041703, 1
4835041704, 2
64535041705 2
64535041706, 4
%
Question Number : 103 Question Id : 64635010597 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No'%Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Fy "rf
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Which of the following structures belong to the Kausambi site?
(a) Jandial temple
(b) Ghoshitaram vihar
(¢) Syenachiti
(d) Dharmarajika stupa

Choose the correct answer from the code given below :

. (a)and (b)
2. (band(c)
3. (c0)and(d)
4. (a)and (d)
Options : al '

64535041707, 1

64535041708, 2

64835041709 2

64535041710, 4

|
. |

Question Number : 103 Question Id : 64635010597 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No%)ption Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Frofafed # § S SE=1E SR Rida d d 946id 82
(i) Sifsam AR
(i) waRA fEr
(iii) S
(iv) RIS Squ
TR Rumae AT TR IRT:

(i), 3R (i)

j—

2. (ii) 3R (i)
3. (iii) 3R (iv)
4. (1) 3R G4v)

Options : % % f
4535041707, 1
64535041708, 2
64535041709 =
64535041710, 4

-

Question Number : 104 Question Id : 64635010598 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ‘)
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Mural paintings of Gupta period are noticed from which of these sites?
(a) Ajanta
(b) Elephanta
(¢) Bagh
(dy Bhaja

Choose the correct answer from the code given below :

1. (d) and(b)
2. (a)and(c)
3. (d)and (a)
4. (b)and (a)
Options : N

645350417111

64535041712 2

64535041713 3

64535041714 4

Question Number : 104 Questionild : 64635010598 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks/ 2 Wrong Marks : 0"’ \
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T & firRi o fRaferiea 7 9 fom wal d gar garn .
@) Sk
(i) Ul
(i) T
(iv) TSl
% feu T e ® @ 9E Iw g
1. (iv) 3R (ii)
2. (i) 3R (i)
3. (iv) 3R ()
4. (ii) 3R @)

Options : 1_'”& [
45250417111
£4E525041712. 2
64535041713 3
£E4635041714. 4

Question Number : 105 Question |d : 64635011-0599 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ,Q
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Seated image of Mahavir Jain has been noticed from which of the following sites?
(a) Ellora
(b) Elephanta
(¢) Ajanta
(d) Sittanavasal

Choose the correct answer from the code given below :

. (a)and (c)
2. (band(d)
3. (a)and(d)
4. (b)and (c)
Opions : < ]

645350417151
64535041716, 2
64535041717, 3

E4E35041715. 4
|

Question Number : 105 Question Id : 64635010599 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No4Option Orientation : Vertical

Correct Marks : 2 'Wrong Marks : 0,
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HETIR 1 S Hfcre Frafered 9 o al A v g8 8 -
@) AR
(i) Ul
(i) 3rota
(iv) Hie=arad
T Rumu e d ¥ gEt IR gF:

1. (i) 3R (i)
2. (i) 3R (iv)
3. (i) 3R (iv)
4. (ii) 3R (iv)
Options : ' |

E4E535041715. 1
E4E35041716. 2
64535041717, 3
645350417158, 4

Question Number : 106 Question d : 64635011.0600 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks 30
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Mithuna figures are observed on the front screen wall of which of these chaitya halls in
Maharashtra?

(a) Lenyadn

(b) Karle

(¢) Ajantacave 10
(d) Kanheri

Choose the correct answer from the code given below :

. (c)and (b)
2. (d)and (a)
3. (b)and(d)
4. (a)and (d)
Options : Y.

E4535041713. 1
64535041720, 2
64535041721, 3

64535041722, 4
]

Question Number : 106 Question Id : 64635010600 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Nobption Orientation : Vertical

Correct Marks 32 Wrong Marks : Q¢
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HERTY A Fofared o ¥ 59 3e & IR PRl = iR &t srefai Sa T B
() o=
(i) @
(iii) 3o &7 10
(iv) @Y
R Rumge § 3 vl W ghu:
L. (i) 3R (i)
2. (iv) 3R (D)
3. (i) 3R (iv)
4. (1) 3R (iv)

Options : a I
E45250417139 1
64535041720 2
64535041721 =
64835041722 4

|

|
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Which of the following inscriptions are engraved in Kharosthi script?
(a) Ashoka’s Rock Edict XIII (Shahbazgarhi)
(b) Besnagar Garuda pillar inscription
(¢) Hathigumpha inscription of Kharavela
(d) Swat Relic Casket inscription

Choose the correct answer from the code given below :

1. (a)and(b)
2. (b)and(c)
3. (c)and (d)
4. (a)and (d)
Options : . % l’

64535041723 1
64535041724, 2
64535041725, 3
EAE3504172E6. 4

-

{

Question Number : 107 Question |d : 64635011.0601 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ‘)
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. (i) R i)

2. (ii) @R (i)

3. (iid) MR (iv)

4. (i) IR (iv)

Options :
645350417231
64535041724 2
64535041725 3
G4AE35041726. 4
N
Question Number : 108 Question |Id : 64635010602 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : l\!o. Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Which of the following officers have been referred to in the Rock Edict XII (Girnar) of
Ashoka?

(a) Dharmamahamatra

(by Stryadhyaksha Mahamatra
(¢) Rajuka

(d) Pradeshika

Choose the correct answer from the code given below :

. (a)and (b)
2. (band(c)
3. (¢)and (d)
4. (a)and (d)
Options : L ~ {ﬂ

45350417271
64535041728, 2
64535041729, 5
64535041730 4
II
Question Number : 108 Question%j 1 64635010602 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No™Option Orientation : Vertical

Correct Marksﬂ,r: 2 Wrong Marks : 0",
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2. (i) 9R (i)
3. (i) 3R (iv)
4. (i) 3R Gv)

Options :

4635041727, 1
64535041728, 2
64535041729 2
64535041730 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks 30

Examrace www.examrace.com



Which of the following inscriptions make reference to the punch-marked coins?
(a) Nasik cave inscription of Pulamavi
(b) Nasik cave inscription of Usavadatta
(¢) Nasik cave inscription of Gautami Balasri
(d) Nanaghat cave inscription of Naganika

Choose the correct answer from the code given below :

1. (b)and(d)
2. (c)and(d)
3. (a)and (b)
4. (a)and(c)
Options : a f '

645350417211
64535041732, 2
64535041733 3
64535041734, 4
i W\
Question Number : 109 Question Id : 64635010603 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No:pption Orientation : Vertical

Correct Marks : 2 -Wrong Marks : 0
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1. (i) 3R (iv)

2. (iii) 3R (iv)

3. (i) @R (i)

4. (1) 3R (iii)

Options : ‘ % [
c4e250417231. 1
CAE3E041732. 2

64535041733, 3
64535041734, 4

Question Number : 110 Question d : 64635011.0604 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks 30
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Which of the following sites have revealed the coin moulds of the Yaudheyas?

(a) Sunet
(b) Sugh

(¢) Sanghol
(d) Khokrakot

Choose the correct answer from the code given below :

. (a)and (b)
2. (b)and(c)
3. (c)and(d)
4. (a)and(d)
Options : «l '

645350417251
64535041736, 2
64535041737, 3
64535041738, 4
. . |
Question Number : 110 Question Id : 64635010604 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Nopption Orientation : Vertical

Correct Marks : 2 -Wrong Marks : 0;
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(1) S (i)
2. (i) 3R (i)
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4. ()8R (v)

Options : a 1
64535041735 1
64535041736, 2
64635041737 2
64535041725 4
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Which of the following inscriptions refer to the proper name of Ashoka?

(a) Nittur
(b) Bairat
(¢) Sannati

(d) Udegolam

Choose the correct answer from the code given below :

1. (a)and(c)
2. (b)and(d)
3. (a)and (d)
4. (b)and (c)
Options - -l |

64535041739, 1

64535041740, 2

64835041741 =2

4535041742 4

|
. |

Question Number : 111 Question Id : 64635010605 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No%)ption Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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64535041741, 3
64535041742, 4
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Correct Marks : 2 Wrong Marks :{0

Fy "rf
i

Examrace www.examrace.com



Which of the following factors help to distinguish the strata comrectly during
excavations?

(a) Thickness
(b) Colour

(¢) Composition
(d) Contents

Choose the correct answer from the code given below :

-

(a), (b) and (c)
2. (b),(c)and(d)
3. (a),(b)and(d)

4. (a) (¢)and (d)

Options : | ,;
E4E2E041742 1
c4ez2E041744,. 2
4535041745 2

64535041746, 4
]

.I
Question Number : 112 Question Id : 64635010606 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No#Option Orientation : Vertical

Correct Markslf: 2 Wrong Marks : Oy
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Options : - Jf
64535041743, 1

4835041744 2
64535041745 2
64535041746, 4
%
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Arrange the following caves in chronological order :
(a) Hinayana caves of Bhaja
(b) Caves of Barabar
(¢) Caves of Bagh
(d) Caves of Ellora

Choose the correct answer from the code given below :

—
.

(a), (d), (c), (b)
2. (d,0), () @
3. (b), (@), (c), (d
4. (a), (b), (c), (@)

Options : P I
E4E35041747. 1

E4E35041745. 2
E4535041749. 3
64535041750, 4

{

Question Number : 113 Question |d : 64635010607 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No, Option Orientation : Vertical

Correct Marks : 2 Wrong Marks 40
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(1), (v), (u1), (1)
2. (@), (), (u), @)
3. (), (), (m), v)

4. (1), (), (1), (av)
Options : - ,j'
C4e25041747. 1
64635041748, 2

64535041745, 3

64535041750, 4
]

|
Question Number : 114 Question Id : 64635010608 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No#Option Orientation : Vertical

Correct Marksr{: 2 Wrong Marks : Q«
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements :

Assertion (A) : Some bunals at Mahadaha and Damdama bear skeletons with
personal ornaments.

Reason (R) : It indicates a kind of social status.
Choose the correct answer using the code given below :
1. (A)is true, but (R)is false
2. (A)is false, but (R) 1s true
3. Both (A) and (R) are true and (R 1s the correct explanation of (A)

4. Both (A) and (R) are true, but (R) is not the correct explanation of (A)

. - |
Options : I

64535041751, 1
64535041752, 2
64535041752, 3
E4E35041754. 4

-

L
Question Number : 114 Question Id : 64635010608 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No, Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements :

Assertion (A) : Burin 1s an effective tool for engraving or grooving and shaping of
bone, antler and wooden objects and for their decoration.

Reason (R) : The Upper Palaeolithic culture is marked by art objects made of bone
and antler and its lithi¢c industry 1s known as blade-burin industry.

Choose the correct answer using the code given below :
1.  (A)is true, but (R)1s false
2. Both (A) and (R) are true and (R) 1s the correct explanation of (A)
3. (A)is false, but (R) 1s true

4. Both (A) and (R) are true, but (R) is not the correct explanation of (A)

Options : | ,I
453250417551
cde3E041756. 2
E4E2E0417E7. 2

E4E35041758. 4
1

|
Question Number : 115 Question Id : 64635010609 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No#Option Orientation : Vertical

Correct Marksr: 2 Wrong Marks : Oy

|
|
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Options : - ;‘
645350417551

E4E35041756. 2
E4535041757. 3

64635041758, 4
{

Question Number : 116 Question Id : 64635010610 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements :

Assertion (A) : Earlier records have been preserved in baked clay objects.

Reason (R) : Ths property is called thermoremanent magnetism.

Choose the correct answer using the code given below :

[

Both {(A) and (R) are true and (R) i1s the correct explanation of (A)
2. (A)istrue, but (R) is false
3. Both (A) and (R) are true, but (R) is not the correct explanation of (A)

4. (A)1s false, but (R) 1s true

Options : & ¥ 4
64535041759, 1
4835041760, 2
4535041761, 2
64535041762, 4

oy

Question Number : 116 Question Id : 645350 0610 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No- Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
‘4
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Options : '1{
64535041759 1

E4E35041760. 2
E4E35041761. 3
64535041762, 4
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements :

Assertion (A) : During the Pleistocene some plants became instincts.

Reason (R) : There were considerable shifts of vegetational zones due to climatic
change.

Choose the correct answer using the code given below :
1. Both{A) and (R) are true and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
3. (A)istrue, but (R)1s false

4. (A)1s false, but (R) 1s true

Options : i
64835041763, 1
4535041764, 2
64535041765, 5
64535041766, 4

{

Question Number : 117 Questionld : 64635010611 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No,_ Option Orientation : Vertical

Correct Marks : 2 Wrong Marks #0
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Options : v y
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements :

Assertion (A) : Human remains of Holocene period have been obtained from
different parts of India.

Reason (R} : It helps to hypothesize as indigenous origin and continuation of
human habitation in India.

Choose the correct answer using the code given below :
1. {(A)istrue, but (R)1s false
2.  Both (A) and (R) are true and (R) is the correct explanation of (A)
3. (A)1s false, but (R)1s true

4. Both (A) and (R) are true, but (R) is not the correct explanation of (A)

. - |
Options : I

64535041767, 1
64535041768, 2
64535041769, 3
E4E35041770. 4

-

L
Question Number : 118 Question Id : 64635010612 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No, Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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64535041767, 1

64535041768, 2

64535041769, 3

64535041770, 4
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements :

Assertion (A) : There were shifts in climate and environment in different parts of
India during Upper Palaeolithic period.

Reason(R) : Some attempts have been made to gain insights into the lifeways of
Upper Palaeolithic.

Choose the correct answer using the code given below :
1.  Both (A) and (R) are true and (R) 1s the correct explanation of (A)
2.  Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
3. (A)istrue, but (R)1s false
4. (A)is false, but (R) 1s true

Options : - ‘I
64535041771, 1
64535041772 2
4535041772 2

E4E35041774. 4
|

Question Number : 119 Question IId : 64635010613 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No4Option Orientation : Vertical

Correct Marks : 2 'Wrong Marks : 0,
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Options : | & f
64635041771, 1
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(Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements :

Assertion (A) : Bhimbetka Acheulian industry is characterized by high standard of
workmanship and great diversity of non-biface tools.

Reason (R) : Bhimbetka industry represents the terminal phase of the Acheulian
tradition.

Choose the correct answer using the code given below :
1.  Both(A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true, but (R) is not the correct explanation of (A)
3. (A)is true, but (R) 1s false
4. (A)1s false, but (R) 1s true

Options : - ‘I
64535041775, 1
64535041776, 2
E4E35041777. 2
El

E4E35041778.
|
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements :

Assertion (A) : The Chalcolithic settlements in the Malwa region are reasonably large
in size but none of them could attain the status of being an urban
centre.

Reason (R) : The people failed to realise the full potential of the natural resources
with the help of available copper technology.

Choose the correct answer using the code given below :

—

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are true, but (R) is not the correct explanation of (A)
3. (A)istrue, but (R)is false

4. (A)1s false, but (R) 1s true

Options : Vi "N
64635041779 1
64635041780, 2
435041751 2
C4EZE041752. 4
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements :

Assertion (A) : The Chalcolithic settlements 1n the Ganga region are reasonably large

in size and number but none of them could attain the status of being
an urban sife.

Reason (R) : Absence of effective agricultural tools of copper failed them to
harness the conducive natural condition.

Choose the correct answer using the code given below
1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2.  Both (A) and (R) are true, but (R) is not the correct explanation of (A)
3.  (A)istrue, but (R)is false

4.  (A)is false, but (R) 1s true

Options : a l
64535041783,

1
64535041754 2

64635041785 2

64535041756, 4

|
, |
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements

Assertion (A) : A process of urbanization is clearly marked in the Ganga valley
during the early historical period at a good number of habitation sites.

Reason (R) : Increase in the number and improvement in the quality of iron tools in
general helped to accelerate the overall production.

Choose the correct answer using the code given below :
1. Both(A) and (R) are true and (R) is the correct explanation of (A)
2. Both(A) and (R) are true, but (R) 1s not the correct explanation of (A)
3. (A)istrue, but (R)1s false
4. (A)is false, but (R) is true

Options : P |
64535041787, 1
64535041738, 2
64535041759, 2
645350417390, 4
L
Question Number : 123 Question Id : 64635010617 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No, Option Orientation : Vertical
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Options : ks |
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(Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements :

Assertion (A) : There was a very strong upward trend in the field of production,
construction and trading activities during the Kushana period.

Reason (R) : The natural conditions were very conducive for this growth.

Choose the correct answer using the code given below :

=

Both (A) and (R) are true and (R 1s the correct explanation of (A)
2. Both (A) and (R) are true, but (R) is not the correct explanation of (A)
3. (A)istrue, but (R)1s false

4. (A)is false, but (R) 1s true

Options : . % r
64535041791, 1

64535041732, 2
64535041732, 3
E4E35041734. 4

]

{
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements :

Assertion (A) : A large number of copper coins were issued for the first time dunng
the Kushana period and these became accessible to the common
people.

Reason (R) : Copper deposits became known in a big way during this period.

Choose the correct answer using the code given below :

[

Both (A) and (R) are true and (R) 1s the correct explanation of (A)

e

Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
3. (A)istrue, but (R)is false

4. (A)is false, but (R) is true

Options : -« f
64535041795, 1

64535041796, 2
4835041797, 2
4535041798 4
%
Question Number : 125 Questionr'ld : 64635010619 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements :

Assertion (A) : Yaksha and Yakshi images are found at many Buddhist sites.
Reason (R) : Buddha had encouraged the worship of Yakshas and Yakshis.
Choose the correct answer using the code given below :

1. Both (A) and (R) are true and (R) 1s the correct explanation of (A)

2. Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)

3. (A)istrue, but (R)is false

4. (A)is false, but (R) 1s true

Options : o '
645350417595, 1
64535041800, 2
64535041801, 3
6453504180Z. 4
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Single Line Question Option : No. Option Orientation : Vertical
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements :

Assertion (A) : The Kailasanatha temple at Ellora is excavated in the South Indian
Dravidian style.

Reason (R) : Kalasanatha tfemple was fashioned after the Pattadakal and
Kanchipuram temples.

Choose the correct answer using the code given below :

[

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are true, but (R) is not the correct explanation of (A)
3.  (A)istrue, but (R)is false

4. (A)is false, but (R) is true

Options : ’ - ,f"
64535041803, 1
64535041804, 2
64835041805 2
4535041806, 4

)
|
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements :

Assertion (A) : There was a lull in Buddhist rock-cut excavations in Maharashtra
region around the second half of the 1% century CE.

Reason (R) : There was a shortage of artisans in the region.

Choose the correct answer using the code given below :
1. Both (A) and (R) are true and (R) 1s the correct explanation of (A)
2. Both(A) and (R) are true, but (R) is not the correct explanation of (A)
3. (A)istrue, but (R)1s false

4. (A)is false, but (R) is true

Options : 4 £
CAEZE041807. 1
4525041808, 2
4525041809 2
453250415810 4

oy
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(Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements :

Assertion (A) : The Alingan Chandrasekharmurti from Brihadisvara temple at
Tanjore is like Hara Parvati or Uma-Mahesvara images of North
India.

Reason(R) : South Indian images of Uma-Maheshvara are different from Uma-
Mahesvara images of North India.

Choose the correct answer using the code given below :
1. Both(A) and (R) are true and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
3. (A)1s false, but (R) 1s true

4. (A)1s true, but (R)1s false

Options : - ‘I
64535041511, 1
64535041812 2
4535041812 2

E4E35041814. 4
|
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements :

Asserfion (A) : The Hindu-Shahi kings of Ohind and Afghamistan did not 1ssue the
gold coins.

Reason (R) : Gold was not in adequate supply in India.
Choose the correct answer using the code given below
1. (A)istrue, but (R)1s false
2. Both(A) and (R) are true and (R) 1s the correct explanation of (A)
3. Both(A) and (R) are true, but (R) 1s not the correct explanation of (A)

4. (A)1s false, but (R) is true

Options : \‘ f
64535041515, 1
4835041816, 2
4535041817, 2
64535041818, 4

Question Number : 130 Question Id : 64(635010624 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements :

Assertion (A) : Silver coins were 1ssued in large number for the first ime 1n western
India by Chandragupta II.

Reason (R) : It was intended to win the confidence of states which were wrested
from the western Ksatrapas.

Code :
1. Both (A) and (R) are true and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are frue, but (R) is not the correct explanation of (A)
3. (A)is false, but (R) 1s true

4. (A)is true, but (R)is false

Options :
645350415159 1
64635041320 2
64535041821, 3
E4E250415822. 4
L
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements :

Assertion (A) : Wema Kadphises was the first king to issue gold coins.

Reason (R) : The inspiration for the issue of gold coins came from Roman coins
which were imported in large number from Rome as a result of trade
contact.

Choose the correct answer using the code given below :
1. Both(A) and (R) are true and (R) is the correct explanation of (A)
2. (A)is true, but (R) 1s false
3.  Both (A) and (R) are true, but (R) is not the correct explanation of (A)
4. (A)is false, but (R) is true

Options : [ l j
64535041523, 1
64535041824, 2
64835041825 =2
el

E4E250415826.
Vi
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Correct Marks : 2 Wrong Marks : 0 ‘{
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Match List—I with List-II ;

List-I List-II
(Books) (Authors)
(a) Ceramucs for Archaeologists (1) F. E. Zeuner

(b) Glacial and Pleistocene Geology (11) M. K. Dhavalikar
(¢) Dating the Past (111) A. O. Shepard

(d) Indian Protohistory (1v) R. F. Flint

Choose the correct option from those given below :
L (aHu); (b)-av); (¢)-(); (d)—1)
2. (aHi); (b)-v); (c)-(1); (d)(id)
3. (av); (b)-(u); (e)-(); (d)—1)
4. (@Hiv); (b)-(iii); (c)—(1); (d)—(id)

Options :
4535041527, 1

EAE35041828. 2
64535041825, 3
64535041820, 4

)

f 1
Question Number : 133 Question Id/: 64635010627 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : Q"
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-1 a1

() IR BR S ATaoReH @  uwEReR

(b) R Te fRrer Rrafiateh (i) A eaiferet
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(d) sfET e (iv) 3R U ki
4 féT T e d 9 95 S I

@ o @ @
. Gi) Gv) G Q)
2. (i) (v @ (i)
3. Gv) @) G) @)
4. Gv) @) @ (D)

Options : - Jf
64535041827, 1

4835041828, 2
E4E35041529. 3
64535041520, 4
%
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Match List—I with List-II

List-I List-—II
(a) Turkana boy (1) Donald Johanson
(b) H. heidelbergensis (11) Richard Leakey
(¢) Neanderthal (i)  Demniel Hartmann
(d) Lucy (1v) Pierre Marcellin Boule

Choose the correct option from those given below :
L (@), (0)~v); (0)-@); (i)
2. (a)i); (b)-@); (e)~(v); (d)—(i)
3. (aHu); (b)—uw); (©-v); (DD
4. (@), (b)-Gv); (e-1); (1)

Options : . % r
645350415831, 1

64535041832, 2
64535041832, 3
E4E35041824. 4

]

{
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Correct Marks : 2 Wrong Marks ‘)
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-1 @1 7l &1 GE-11 S 7el & 91y Gafed Hifon ;
al-1 Heli-11

(a) TSFIEE (i) SIHTS SieTan

(b) U RS (1) g et

(¢) Fugyd iy — Sfgagdd=

(d T (v)  fomR oRifem saw
1= Ry T e & A TE TR AT

@ ® @ @
L G (v @ i)
2. (i) @ (v ()
3. () @) Gv) Q)
4. Gi) Gy @ (D)

Options : - Jf
64535041531, 1

4835041832 2
64535041533 2
64535041524, 4
%
Question Number : 135 Question Id : 64635010629 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No'%Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Match List=I wath List=II :

List-I List-II
(Human types) (Places)
(a) Australopithecus anamensis (1) China
(b) Australopithecus africanus (11) Germany
(¢) Homo heidelbergensis (1)  Kenya
(d) Sinanthropus pekinensis (iv)  Tanzama

Choose the correct option from those given below :
L (a)id); (b)-(v); (e)-(1); (DD
2. (a)Hw); (b))~ ()—1v); (d)—(u1)
3. (i) (b)-G1); (-Gv); (A0
4. (a)Hiv); (b)-(iii); ()-1); (d)-(i)

Options : ) i .
64635041835, 1
64535041836, 2
64635041837 3
646325041828, 4

Question Number : 135 Questior‘hd : 64635010629 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Qriop Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

L |
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Geii-1 -1
(a) SiewitRey tHim 0 d9

b) oficditles ghlera (i) S

(c) B FESTIHg Giy @i

(d) FETUos ofene (iv)  c=rt=ar
1= T T g A ¥ T SR AR

@ & © @
my Qv 0 @
2. i) @) Gv) (i)
3. (i) G G Q)
4. Gv) @) @ (i)

Options : -« ,‘
645350415835, 1

64535041836, 2
64535041837, 3
E4E35041835. 4

ek
.

|
|
Question Number : 136 Question Id : 64635010630 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No'?())ption Orientation : Vertical

Correct Marks : 2 Wrong Marks :

i —
o 1
|
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Match List—I with List-II :

List-I List—II
(Sites) (Rivers)
(a) Yedurwadi (1) Left bank of the river Kukdi
(b) Bomn (i1) Left bank of river Karha
(¢) Morgaon (111) On a nala joining the river ghatprabha
(d) Anganwadi (iv) On a link channel of Krishna river

Choose the correct option from those given below :
L (@)v); (b)), ()-(ib); (d)iii)
2. (a)1); (D)), (- (D)
3. (a)-av); (b)-(it); (o)), (d)—1)
4. (a)HD); (b)-i); ()ii); (d)—1v)

Options : - ,‘
E4E35041539. 1
64535041840, 2
64535041841, =
64535041542, 4
i W\
Question Number : 136 Question Id : 64635010630 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No:pption Orientation : Vertical

Correct Marks : 2 -Wrong Marks : 0
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(d) TSt (iv)  Pon e J s amed T
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(@ M (@© @

1. vy @) (11) (111)

2 (1) (1v) (1) (11)

8. & 06 @ 6

4. (1) 1) ()  (v)
Options : be 8
4525041852591
4525041840 2

64535041841, 3
64535041842, 4

Question Number : 137 Questionfld : 64635010631 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No gption Orientation : Vertical

Correct Marks': 2 Wrong Marks : 0
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Match List—I with List-II

List-I List—I
(Sites) (Regions)
(a) Singi Talav (1) Baichabal Valley
(b) Mudnur (11) Western Deccan
(¢) Morgaon (1)  Son Valley
(d) Bamburn (iv)  Thar Desert

Choose the correct option from those given below :

L. (a)-um); (b)-Qv); (c)-1); (d)—1)
2. (a)-(v); (b)-(ur), (c)-(u); (D~1)
3. (a-); (B-(v); (e)-(u); (d)-i)

4. (a-v); (b)-Q); (c)-Q); (d)-aii)

Options : - ,L'
64535041343, 1
4535041844 2
64535041845, o
64535041846, 4
i B 1
Question Number : 137 Question 1d : 64635010631 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No:*Option Orientation : Vertical

Correct Marks : 2 -Wrong Marks : O_.r
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-1 eI

(a) it qam Q) g
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(c) R (i) = e
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(@ (@O ( @
. Gi) Gy @ G
2. (v) Gi) ) @)
3. Gy GiD (i)
4 Gv) @ G i)

Options : Y ‘
B4E35041843 1
E4E35041844 2
E4E35041845 3
E4E3E041 845 4

Question Number : 138 Questionfld : 64635010632 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No gption Orientation : Vertical
Correct Marks': 2 Wrong Marks : 0
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Match List—I wath List-II :

List—I List—II

(Sites) (Dating methods)
(a) Borm (1) Optically Stimulated Luminescence (OSL)
(b) Isampur (11) Argon-Argon dating

(¢) Attirampakkam (111) Electron Spin Resonance (ESR) dating

(d) Patpara (1v) Cosmogenic dating

Choose the correct option from those given below :
L. (&), (b)-(1); (e)—1); (d)—Gv)
2. (a)1); (b)-in); (¢)~(1v); (D)D)
3. (a)-1); (B)-); (¢)-(in); (d)-(v)
4. (a)-(v); (b)-(in); (c)=(i); (d)—1)

Options : ‘ b [

64535041847 1

64535041848, 2

645350418449 2

64E35041850. 4

Question Number : 138 Question |d : 64{63501{0632 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks Q
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(2) d)  qm gy Rt
(b) FTHAR (i) 3 W HITHG
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(@ @b (© @
. i) G @ Gv)
2. () Gi) Gv) Q)
3. (@ @) G aGv)
4. (iv) GiD) G G

Options : ’ﬁ i "
4535041347, 1
64535041848, 2
64535041849, 5
64535041850, 4

Question Number : 139 Questlor‘hd 64635010633 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No anon Orientation : Vertical

Correct Marks"r 2 Wrong Marks : 0
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Match List—I with List-II :

List-I List-II
(Books) (Authors)
(a) History of Civilization of South Asia (1) F. R. Allchin
(b) The Earliest Civilization of South Asia (11) V. Gordon Childe
(¢) The Archaeology of Historic South Asia (1) A.H. Dam
(d) Man Makes Himself (iv) B.B.Lal

Choose the correct option from those given below
L. (a)(id); (b)H1v); (e)—(1); (d)—(iid)
2. (@Hii); (b)-@); (0)-v); (d)—(i)
3. (Hi); (b)-(v); (c)1); (d)—(i)
4. (@) (b)ii); ()—1v); (1)

Options : - ,!
64535041551, 1

4535041852 2
64535041852,
64535041854, 4
| ' {
Question Number : 139 Question 1d : 64635010633 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No:*Option Orientation : Vertical

Correct Marks : 2 -Wrong Marks : O_.r

( A
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@ o @ @

. G) 4w @ (i)

2. i) @ G G

3. Gi) (v @ G

4. (D) G v Q)
Options : ) i .
64635041851, 1
64535041852, 2
64535041853, 3

E4E5250415854. 4

Question Number : 140 Questior‘hd : 64635010634 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No (}Ftiop Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match List—I wath List-II :

List-1 List-II
(Sites) (Regions)
(a) Jalilpur (1) NWFP
(b) Rehman Dhen (11) Northwestern Punjab
(¢) Dabarkot (111) Saurashtra
(d) Nageshwar (1v) Bolan Pass

Choose the correct option from those given below :
L. (@)HD); (b)-(ui); ()—{v); (d))
2. (a)yw);, (b)-(D):; (0)1v); (d)—1i)
3. (a)ui); (b)-(1); ()-1); (D1v)
4. (a)Hiv); (b)), (o)1), (d)-1)

Options : ’ - ,f"
64535041855, 1
64535041856, 2
64835041857 2
4535041858 4

i
|
Question Number : 140 Question Id : 64635010634 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Nobption Orientation : Vertical

Correct Marks",: 2 Wrong Marks : O-r, .
L
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(b) A Sgd (i) Gl oS
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(d) TR (iv)  SETed

=i feu U g H 9 98 SR g

@ o © @
. @ (i) Gv) G
2. G) G Gy (i)
3. () G @ 6w
4. @(v) Gi) G) Q)

Options : - ,j'
4525041855, 1
C4AE3E041856. 2
4525041857 2

64535041858, 4
]

|
Question Number : 141 Question Id : 64635010635 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No#Option Orientation : Vertical

Correct Marksr{: 2 Wrong Marks : Q«

|
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Match List—I with List—II :

List-I List-II
(Temples) (Styles)
(a) Lingaraja temple (1) Bhurmja

(b) Hoysaleshwara Shiva temple (11) Vesara
(¢) Limkheda Shiva temple (1)  Dravida

(d) Brihadisvara temple (iv)  Nagara

Choose the correct option from those given below :
L. (@), (b)—1); (e)-Q1); (D)—(v)
2. (a)-(w); (B)-Q); (c)-(w); ()—(m)
3. (a)-H); (b)—Hw); (¢)-(u); (d)-(v)
4. (a)-(w); (b)-(m); (¢)-Q); (d)-(v)

Options : | ,I'
E4E=E041859 1
C4e2E041880. 2
CAE2E041861. 2

E4E53504186%2. 4
|

|
Question Number : 141 Question Id : 64635010635 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No#Option Orientation : Vertical

Correct Marksf: 2 Wrong Marks : Oy

1
|
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Options : - ,j'
45250418559 1
C4AE2E041860. 2
4525041861, 2

64535041862, 4
]

|
Question Number : 142 Question Id : 64635010636 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No#Option Orientation : Vertical

Correct Marksr{: 2 Wrong Marks : Q«
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Match List—I with List—II :

List-I List-II
(Chalukyan (Kings reigns during
temples) which they were built)
(a) Badami cave 3 (1) Vikramaditya
(b) Meguti temple, Aihole (11)  Vnavaditya

(¢} Sangameshvara temple (i)  Pulakeshin II
(d) Virupaksha temple (lv)  Mangalesa

Choose the correct option from those given below :
L. (a)y-v); (b)-(u1); (e)-(1); (D))
2. (aH1); (b)-); (¢)-u); (d)-1v)
3. (@), (b)-v); ()-1); (d)-i)
4. (a)ui); (b)-(1); (0)—11); (1)
Options : ) i .
64635041863, 1
64635041864, 2

64535041865, 3
64535041866, 4

Question Number : 142 Questior‘hd : 64635010636 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Qriop Orientation : Vertical

Correct Marks : 2 Wrong Marks : 08
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Options : i 1 {

64535041863, 1
64535041864, 2
64535041865, 3
EAE3504186E6. 4

=

Question Number : 143 Questionid : 64635010637 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Markss: 2 Wrong Marks : O‘r’ \
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Match List=I with List=II :

List—I List—II
(Chola temples) (Kings in whose periods
they were constructed)
(a) Brhadisvara temple, Tanjavur (1)  Adityal
(b) Narthamalai temple (1)  Raja Raja Chola I
(¢) Gangaikondacholapuram (1)  Vyayalaya Chola

(d) Koranganatha temple, Srimvasanallur (iv)  Rajendral

Choose the correct option from those given below :
L. (a)-Qv); (b)-(); (¢)-(1); (d)—(u1)
2. (a)-(u); (0)-(w); ()-Qv); (D—1)
3. (a-(m); (b)-(w); ()-1); (d)-av)
4. (@H); (b)~1); (c)ur); (d)-(v)

Options : \ i N
4535041867, 1
64535041868, 2
64535041869 =
64535041870, 4

d "
Question Number : 143 Questiorﬂd : 64635010637 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No thioln Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 \

| |
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64535041869, 3
64535041870, 4

Question Number : 144 Questibr'ﬂd : 64635010638 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No 9ption Orientation : Vertical
Correct Marks': 2 Wrong Marks : 0’ '
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Match List—I with List—II :

List-I List-II
(Authors) (Books)
(a) B. M. Barua (1) The Edicts of Ashoka
(b) WV.A Smuth (11) Ashoka
(¢c) R.B.Pandey (111} Inchan Palacography
(d) R.K. Mookerji (1v) Ashoka and His Inscriptions

Choose the correct option from those given below :
L (@H1v); (b)-(i1); (e)-Gi); (1)
2. (@) (b)Hw): (e)-(av); (d)~m)
3. (a)Hi); (b)D): (©-il); (d)-Gv)
4. (a)-v); (b)-Q1); (e)-(um1); (d)~(u)

Options : | ,I'
E4EZE041871. 1
C4e2E0415872. 2
CAEZE041873. 2
4525041874 4
1

|
Question Number : 144 Question Id : 64635010638 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No#Option Orientation : Vertical

Correct Marksf: 2 Wrong Marks : Oy
|
L |
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Options : - ‘

64635041871, 1

64635041872, 2

64535041873, 3
64535041874, 4

=

{

Question Number : 145 Question Id : 64635010639 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No,pption Orientation : Vertical

Correct Marks : 2 “Wrong Marks : Oj
[
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Match List—I with List—II :

List-I Last-II
(Books) (Authors)
(a) Indian Palaeography (1) G. Buhler
(b) The Alphabet (11) D. Diringer
(¢) Elements of South Indian Palacography (111) A. C. Bumnell
(d) Early Brahm Records of India (1v) H. Chakraborti

Choose the correct option from those given below
L. (a)); (b)-i); (9)-ii); (d)-Gv)
2. (a)Hm); (b)H1); (0)v); (d)—(i)
3. (a)Hun); (b)-(); (¢)—1); (d)—(v)
4. (a)Hiv); (b)-(u1); (c)(1n); (d)~D)

Options : | ,I'
E4EZE041875. 1
C4e2E0415876. 2
CAEZE041877. 2

64535041875, 4
]

II
Question Number : 145 Question Id : 64635010639 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No#Option Orientation : Vertical

Correct Marksf: 2 Wrong Marks : Oy
|
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Options : - ‘
645350415875, 1

E4E35041876. 2
435041577, 2
64535041878, 4
%
Question Number : 146 Question Id : 64635010640 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No'?())ption Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Match List—I with List-II

List—I List—II
(Inscriptions) (Poets)
(a) Allahabad pillar inscription of Samudragupta (i) Ravikirti
(b) Gwalior inscription of Mihir Bhoja (i)  Vasula
(¢) Aihole pillar inscription of Pulakesin 1 (i11)  Harisena
(d) Mandsore pillar inscription of Yashodharman (lv)  Baladitya

Choose the correct option from those given below :
L. (@)-(v); (b)-(ii); (o)), (D))
2. (a)Hid); (b)—Gv); (e)-@); (D)
3. (a)-H@); (b)H1); (0)-v); (d)—(11)
4. (a1 (b)-1); (e)in); (d)—(iv)

Options : P |
64535041579, 1

6453504138380, 2

E4E35041551. 2

6453504135582, 4

L

Question Number : 146 Question Id : 64635010640 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No, Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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% |
Question Number : 147 Question Id : 64635010641 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No'?())ption Orientation : Vertical

Correct Marks : 2 Wrong Marks : P
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Match List—I with List-II :

List-I List=II
(a) Bachchnalian scenes (1)  Parsuramesvara temple at
Gudimallam
(b) Dharmachakraparavartana (11)  Mathura school of sculpture
(¢) Death of Buddha looking like (11)  Sarnath school of sculpture
death of Apollo
(d) Survaimages of South Indian (1v)  Gandhara school of sculpture

variety

Choose the correet option from those given below :
L (a)(i); (b)), (e)iii); (d)—(1iv)
2. (a)y(m); (b)—1); (¢)—1); (d)-1v)
3. (a)Hu); (b)-(m); (¢)-); (d)-(v)
4. (a)-w); (b)—); (e)-(u); (d)~(u)

Options : Vi
64635041883 1
64625041884 2
646235041885, 3
E4E25041886. 4

Question Number.-147 Question ld« 64635010641 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No @'ftion Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 1
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3. (i) @) @ 0 (v
4, @Gv) @) i) @)
Options : Rk
64635041883 1
64635041834, 2

E4535041885. 3
64535041886, 4

'K
Question Number : 148 Questionﬁd : 64635010642 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line erpstion Option : No Gfmtior] Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match List—I with List-II :

List-I List-I1
(a) Ardokso (1) Kumaragupta I
(b) Lakshmi (i)  Kanishka I
(¢) Shiva (111} Chandragupta II
(d) Karthikeya (av) Samudragupta

Choose the correct option from those given below :
1. (@-v); (b)) (o) (DD
2. (a)y(m); (b)-(1); (c)-(u); (d)-(v)
3. (ayv); (b)) (-1); (DD
4. (a)-(w); (b)-(u); (¢)-1); (d)-(av)

Options : - I ;

E4E25041857. 1

E4E25041888. 2

64535041859 =

64535041350 4

\
. |

Question Number : 148 Question Id : 64635010642 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Nor,Option Orientation : Vertical

Correct Marks : 2 _Wrong Marks :
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-1 31 Hel I Jei-11 8 gHferd sifon :
Tet-1 -1

() ORSIaEN (i) FHREI

(b) e (i) DI

(¢c) Rma (i)  FEIEII

(d) e (iv) g
=4 feu MU ge # 4 e SR IR

(@) (b (© @

. e @ @b 6

2. (1) (1) (11) (1v)

3. (1v) (111)  (11) (1)

4 G G @ 69
Options : g |
4525041587, 1
4525041888, 2

64535041885, 3
64535041830, 4

Question Number : 149 Question d : 64635011.0643 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks 30

 —
' 1
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Match List—I with List=II :

List-1 List—II
(a) Dangawada (1) A. K. Sharma
(b) Gufkaral (11) M. K. Dhawalikar
(c) Walki (i11) S. A. Sali
(d) Daimabad (1v) V. 8. Wakankar

Choose the correct option from those given below :
L. (a)Hav); (b)—(1); (o)-(); (d)—m)
2. (- (b-v); (e)-(1); (d)—~m)
3. (a-u); (b)-1); (o)), (D)
4. (@)A1 (b)-1w); (0)-(ii); (d)-(v)

Options : - ’I
64535041591, 1
64535041892, 2
4535041892 =2

E4E35041854. 4
|

Question Number : 149 Question IId : 64635010643 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No4Option Orientation : Vertical

Correct Marks : 2 'Wrong Marks : 0,
1
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A1 B "l 1 gHI-11 1 Hal § Gafera Sifo :
-1 -1

() SFTETSI (i) uH o

(b) THHIA (i) UH &. yafere

(©) Tt (i) ©TH. U9

(d) <HETE (v) & TH FPER
= fau U BT A ¥ 98 SR AT

@ O @© @
. Gvw @ G i)
2. @) (v G) i)
3. Gi) @ v (i)
4. @ G G Gv)

Options : A f'"
E4E=E041591. 1
4535041592 2
64635041593 3
46535041594 4

oy

Question Number : 150 Question Id : 64{635010644 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
|

Correct Marks : 2 Wrong Mark§ .0
N

 —
' 1
|
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Match List—I with List-II

List-I List—II
(a) Karthikeya type silver coins (1) Kumaragupta I
(b) Chakravikrama type coins (11) Chandragupta I
(¢c) Standard bearer type coins (111) Samudragupta

(d) King and Queen type coins issued first time (1iv)  Chandragupta II

Choose the correct option from those given below :
L. (a)Hu); (0)~1); (¢)-av); (d)—im)
2. (a)Hiv); (b)-(); (o)-(1i); ()~D
3. (aH); (b)), (e)-(u1); (d)—u1)
4. (aHui); (b)-Qv); (¢)-(1); (A1)

Options :

64535041595, 1
E4E35041896. 2
4535041897, 2
64535041898, 4

-

)
Question Nun{i)er : 150 Question Idi: 64635010644 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No tion Orientation : Vertical

Correct Marks : 2. Wrong Marks : O}

_ |
\ |
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-1 3t 7el 31 JE-11 9 gafed Sifon -

-1 -1

(a) SIfied YHR & dial & fHab () PHIRTEI
(b) IAPAHH ISR & (GaH (i) TEl
(c) ATARD VOR & [Hab (iti) T
(d) 7o 3R I voR & e (iv) = Il
=i feu T ge H 9 wEt TR AT

@ O @©© @

(i) @ Gv) )

(v) G @D Q)

H Qv @) )

(i) Gv) G @

Options : 4 {

64535041855, 1
64535041836, 2
64535041837, 3
E4E350418395. 4
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